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�����M(X) �� ������	
 OX �������� �	 X �
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����� P(X) �� ���
�� ��	���� *���
��� ���� OX �������� �� �	�
�
�
	'- �	 X �
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0 → A→ B → C → 0
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f(B) = f(A) + f(C)
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�� �� ���������� ��
���� [A] �� ��3��
� �� C ������ �������� ��	��

�� ��

�� ���������	�

[B] − [A] − [C]
��� ����� ��5��	��

0 → A→ B → C → 0
�	 C� ����� �� ��
�
 �	 A� ���� K0(C) �
� ��	��

���1 �	� ��	��

�� [A] ��� �
��
A ∈ Ob(C) 
	� ����� �����	
 �� K0(C) �
� �� ��������� �	 
�� ���� [A] − [B] *�	
�
	� �
��-� +�������� ����
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[A] + [B] = [A⊕B].

(	 
��� �
�� 
� 
 ������ X 
���� 
�� 
�����

�� 
�� K�������1

G0(X) �� K ′0(X) = K0(M(X)),
K0(X) = K0(P(X))

*
��� �� �����	 	�


��	D &��
��	����'.� �
� K.(X) 
	� K ·(X) � ��� ��� /#0�
+�������� 	�


��	 K0(X) 
	� K0(X) �� �	 ���� ���� /B0� �� ���	 K(X) 
	� K1(X)
� /;0�- ����� ������ �
�� ��	��

��� [A] ��� A ∈ Ob(M(X)) *����� A ∈ Ob(P(X))-
����� 
�� ���3��
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[B] = [A] + [C]
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� ��5��	��� 0 → A→ B → C → 0 ����� 
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��� ��	�
��	

A �−→ [A]
���� Ob(M(X)) *����� A ∈ Ob(P(X))- 
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K ′0(Spec(R)) = K ′0(R),
K0(Spec(R)) = K0(R).
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 �� ���������� 
� ��
����� ���
�� ��	���� �� 
� ����������� �	

�� �
���
���D �	 ��	
�
�
� �	 �
	� �
��� �	� �
	 �����
� K��������

������� ���� �� R = F �� � ���� �X = Spec(F ) �� � �	����� �
�� ����� �������
��������� F ��	���� �� ����� ��� �
��� �	����� ��� ��������� �� �������	�� �
��

K ′0(F ) = K0(F ) ∼= Z

��� �
� ��	�	��
��� �� ������� �� �
� �������� ������	� A �−→ dimA�
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������� �� ������	� ������ �
�� ������� ���������
���� D��	����� ��� ����� �� A �� ���
 � �	����� �
�� ����� ����� 	� A 
�� �
� ����
������ 	� ���������  	 ��	 ������� ��������� D��	����� ��� ��	�	��
�� �! �
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��� �
� ���� ���
 �	� �������	��� �� �	��	�� �
��

K ′0(D) = K0(D) ∼= Z

��� �
� ��	�	��
��� �� ������� �� �
� �������� ������	� A �−→ dimA�

�������� ���� "�	�� �
�� �	� � ��	� ����������� �	���������� ���� R ��� �������
��������� ��	#������ ���� R��	����� A,B

[A] = [B] �� K0(R) �! �
��� �$����

� ���� ��	#������ C ���
 �
�� A⊕ C ∼= B ⊕ C.

�������� ���� "�	�� �
��� �� �������� �	� � �����	�� C �������� �� �� �������
�����	�� A�

[A] = [B] �� K0(C) �! �
��� �$��� 	�#���� C′, C, C′′ ��� �$��� ��%������

0 → C′ → C → A⊕ C′′ → 0 ��� 0 → C′ → C → B ⊕ C′′ → 0.

#��� ��� �!�" �# �$�!������!�%� �!�$�!$��# �" !��%���� ! ��"���!���# ���	
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[A] · [B] = [A⊗B]

������ � ������������	� �����

K0(X) ⊗Z K0(X) −→ K0(X),
K0(X) ⊗Z K

′
0(X) −→ K ′0(X).

&��
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�� ������������	� ����� K0(X) �� � ���� ���
 ���� ������� 1 = [OX ]� ���
K ′0(X) �� � K0(X)��	�����
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�� f : A1 → A2 ����� 

'�� C1 
� C2 ���	�� 
 ������������

f : K0(C1) → K0(C2).

������� ��(� �
� �������	� �����	� P(X) → M(X) ��������� �$�������� �
��
�
��� �� � 
	�	�	��
���

K0(X) −→ K ′0(X)
�
��
 ���� ��������� 	� �������	�� �[A] �→ [A]�� �
�� �� � 
	�	�	����� 	� K0(X)�
�	������

���� ������������ �� �
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�� (����� 
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������� ��)� �� f : X → Y �� � �	��
��� 	� ��
����� �
�� �
� ��������
 �����	�
f∗ : M(Y ) → M(X) �� �$��� ��� ��
�� P(Y ) �	 P(X)� �
�� K0 ��� K ′0 ���
�����	�� ��	� ��
���� �	 ������� ��	����

������� ��*� �)������	� �� ���	����	�� &� 
��� �
� �	����	� �	��	���� *$�����
+�,� -����� �
��.
/� �	� ����� 	�#��� A �� C2 �
��� �� � ����� ���	����	� 	� A �� 	�#���� 	� �
� �	��
f(B)� B ∈ C1�
+� �� �	� A,C ∈ Ob(C2) �
��� �� � �	������ ������ n ��� �� �$��� ��%�����

0 → C → f(Bn−1) → · · · → f(B0) → A→ 0,

�
�� �
��� �$���� Bn ∈ Ob(C1) ���
 �
�� C ∼= f(Bn)�
�
�� �
� 
	�	�	��
��� f : K0(C1) → K0(C2) �� ���#������� �� ����� �� �
��� �� ��
�$��� ��%�����

0 → f(Bn) → · · · → f(B0) → A→ 0,
�
�� �	 �
	� �
��

[A] =
∑

i

(−1)if [Bi]

	�� ����� 	��� � �������� ��������� ���������

������� ��+� (	������ X = Spec(Z)� 0	����� ���� ������� ��	��� ��� ������ ����
������� ��	���� �	 �
� �������� ������	� rank ������ � ���� ��	�	��
��� K0(Z) ∼= Z�
*���� ������� ��������� ������� ��	�� A 
�� � ���	����	�

0 → B1 → B0 → A→ 0

���
 ���� ������� ��	��� B0� B1� �
�� �
� �������	� �����	� P(Z) → M(Z) �������
� ���#������ 
	�	�	��
��� K0(Z) → K ′0(Z) �
��
 ����� ������ �� ����� 	� ���

������	�� �
�� K ′0(Z) = K0(Z) ∼= Z�

>	�
��� ��
����1 �� f : X → Y �� 
 ������ �������� �� ���
��� 	��
����
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	� ����� ��3��
 �	M(X) �
� 
 �	�
� ������
��	 �� ������	
 ���
��� ��
�
	� ������ ������� ��
���� 
��	 
���� �� 
 ���� ���	�� ����� ������������

f∗ : K ′0(X) → K ′0(Y )

���� 
�

 f∗[F ] = [f∗F ] �������� F �
� 	� ������ ������� ��
����

&�"�"��!�" ���� �� X �� � ��������� �	��
����� ������� ��
���� �
�� �
� (�����
��� K0(X) −→ K ′0(X) �� �� ��	�	��
����

#�#� �$ ,��� !�� 
-�"��� .-"�"!"�/ ��"���!/0# �"����1�!�" # �/��� ���#
��!��!�" �� (	 
�� 
 	� �
�� X = Spec(R)� ����� R �� 
 �����


��� ��	�� �����
�����	
 �� K0(R) �
� �� ���

�	 �	 �������	� �����
� ����1

[A] − [B] = [A⊕ C] − [B ⊕ C] = [Rn] − [B ⊕ C] = n− [B ⊕ C]

����� C �� ���� 
�

 A⊕C ∼= Rn� +�������� 
	 �5�
��
� [A] = [B] �� �5���
��	
 
�
����
�	�� �� 
 C ���� 
�

 A⊕C ∼= B ⊕C *E������� #��-� 
	� C �
� �� �����	 
�
�� 
 ���� ������ *�� �
� 
�

 A 
	� B 
�� ������ ��	�	��
��-� ��� ��
�� [R1] ��
�
	' 1 ���� ������ �� 
�� �	�
 �� 
�� ��	� K0(R)� �� K0(R) = Z ��
	� 
�

 R1 �� 

��	��

�	� ������ 
	� ����� �	�
��� ��	��

�� ���3��
��� R ������� �� �

��� �����
(
 �� 	�
 ���� �� ���
 
� ����� 
�

 ����� �	�
��� ��	��

�� ���3��
��� ������ ����

 ����	���
� ��	� F [x1, x2, . . . , xn] �� �

��� ����� �� K0 (F [x1, x2, . . . , xn]) = Z�
%���� �	 �;BB ����� 
�� 5���
��	 �� ����� �	�
��� ��	��

�� ���3��
��� ������ �� �	
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	� %����	 �	 �;6)�
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'�� �


���	
 � 
�� �5�
��
� K0 (F [x1, x2, . . . , xn]) = Z � �
� 
�� ��	��
��

�"

��	��


-�"��� ��' *F�	�
��	

� �������-� �� R �� � ������� ����� �
�� �
� �������
����� �����	�� M �−→ R[t] ⊗R M � M �−→ R[t, t−1] ⊗R M ������ ���	��
����

K0(R[t]) = K0(R) = K0(R[t, t−1]).


-�"��� ��( *:���
��� ������
�-� �� f : X → Y �� � �	��
��� 	� ��		�

��������� ���
 �
�� ��� ����� f−1(y) ��� �1�� ������� �
�� ������� ����� �����	�
f∗ ������� � ���� ��	�	��
��� K0(Y ) = K0(X)�

��� �
�
 
�

 
 *���
��� ����- ���
� �	 
	 ���	 �����
 U ⊂ X ��
�	�� 
� 
 *���
���
����- ���
� �	 ����� X �
	 �� �


�� 
� �������1


-�"��� ��) *G��
��"

��	-� 0�� U �� �� 	��� ������ 	� � ��
��� X ��� ��� Z
�� �
� ������� ��	��� �	�������� 	� U �� X ���
 �
� ������� ��
��� ����������
2��	�� �� j : U ↪→ X ��� i : Z ↪→ X �
� �������	��� �
� �	��	���� ��%����� ��
�$���.

K ′0(Z)
i∗ �� K ′0(X)

j∗ �� K ′0(U) �� 0

�	� �� 
�� ��
��	� 
� �	
������ ������ 
�����
�� K�
����� �
� 
� ��
�	� 
���
��5��	�� 
� 
 ��	� ��
�
 ���
��"

��	 ��5��	��� �� 
������ 
��� �	 ?������
��	 B�H
������
E���� ������ ��������� Z �� X ���	�� 
	 �����	
 [OZ ] ∈ K ′0(X)� (� Zr(X) ��


�� ����� �� ������ �� ������	���	 r �	 X � 
	�

Z•(X) =
⊕dim X

r=0
Zr(X)


��	 
���� �� 
 ����� ������������

Z•(X) → K ′0(X)
[Z] �−→ [OZ ],

�
���� 
�� ����� ���� (	 
�� 
 	� �
�� �
 �� �
�� 
� ��� 
�

 
�� ��
�� �� 
��
����� �
� ��	��

�� K ′0(X) � ����� �	�
��� ��	��

�� R������� �
� 
 ��
�

��	
��
� �
�
��� ���������� 
� R/p ��� ���

��� p ∈ SpecR� ���� �
�
 ���
�	� �
���
��� ����
� �
���
��� ���� 
 ����� ���� 
�� ������������ Z•(X) → K ′0(X) ��
���3��
��� */#� E����I $� 7�����
��� ����H0�-
����� �� 
�� 
��������
� ��
�

��	

F pK ′0(X) =

⎧⎨
⎩α ∈ K ′0(X) :

α �� �	 
�� '��	�� �� ���
���
��	
K ′0(X) → K ′0(OX,x) 
� 
�� ��	����

���	
 x �� ����� ����
���
� �� ������	���	 < p

⎫⎬
⎭ ,


	� ��	����
��� �
�
��� �� 
��� ��
�

��	 
�� ��		��
�� ��
� 
�� ����� ������ Zr(X)�
+��
�����

��	 �	 K0(X) ��
�	�� 
� ���
�����

��	 �	 K ′0(X)1

[F ] · [G] =
∑

(−1)i
[
TorOX

i (F ,G)
]
.

F�� 
��� ���
�����

��	� �� ������ Z1, Z2 �	
�����
 ��������� 
��	

[OZ1 ] · [OZ2 ] = [OZ1∩Z2 ].



� ����� �	
�����


#�)� &�"2��!�%� �$ ,�� 
-�"���� 7����


��	 �� 
�� &��
��	����' ����� ��

 ���3��
��� ��	��� */#� E����I J(0- �
� �����
� ��� 
�� 
����� 
	� �
� 
�����

��	��
�� �����	
 ���� 
 �����	 ������


-�"��� ��*� �� E �� � ����	� ������ 	� ���
 n 	� � %�����	����� ��
��� Y �

p : X = PY (E) → Y

�� �
� ��	#������ ������ ���	������ �	 E� OX(−1) �� �
� ����	�	����� ���� �������
�
��� ��� p∗ : K0(Y ) → K0(X)� �
� K0(Y )��	���� K0(X) �� � ���� ���
 �
� �����
[OX ], [OX(−1)], . . . , [OX(1 − n)]�

"�		�� *��� /#<� ������� #��0 �� /#�� ������� #��0- K��	� 
 ���
� J �	 X �� 
��
��
�
 ��5��	��1

0 → J → p∗(E) → OX(1) → 0.
��� ���
� J �� ���
��� ���� �� �	�
� �
	'� ��	�� p∗(E) 
	� OX(1) 
�� ����� +��������

p∗OX(1) = E ˇ = HomOY
(E ,OY) ,

p∗J ˇ = E ,
����� J ˇ = HomOX

(J ,OX)� ���������

H0
(
X ×Y X,OX(1) � J ˇ) = H0

(
Y, E ˇ ⊗ E

)
= EndY (E) ,

�����

F � G = p∗1 (F) ⊗OX×Y X
p∗2 (G)

�� 
 ���
� �	 X ×Y X � F ,G 
�� ���
��� �	 X � 
	� p1� p2 
�� 
�� ���3��
��	�
X ×Y X → X � 7�	����� 
�� ����
� ���
��	 s �� OX(1) � J ˇ ����� ��������	��

� 
�� ���	
�
� �	���������� �� E � %�	�� 
�� ���
���
��	 
� 
�� ��
��	
� Δ : X →
X ×Y X �� ���
��� �	����� �� 
�� ��
��

��	 �
� E ˇ ⊗ E →OX� 
�� ���
��	 s
�
	����� ��
�
�� 
��	� 
�� ��
��	
�� ����� ������ 
�� ���"�� ������
��	

0 → OX(1 − n) �
∧n−1

J → · · ·

→ OX(−2) �
∧2

J → OX(−1) � J → OX �OX → OΔ(X) → 0.

4� 
�� ���3��
��	 ������
� ��� ����� ��	��� F �	 X

[F ] = p1∗
(
(p∗2 [F ]) ·

[
OΔ(X)

])
= p1∗

(
(p∗2 [F ]) ·

n−1∑
i=0

(−1)i
[
OX(−i) �

∧i
J
])

=
n−1∑
i=0

(−1)i p∗
(
p∗

([∧i
J
]
· [F ]

))
[OX(−i)]

=
n−1∑
i=0

(−1)i p∗

([∧i
J
]
· [F ]

)
· [OX(−i)] ,

����� ������� 
�

 
�� �
�

ϕ :
⊕n−1

i=0
K0(Y ) → K0(X)

ϕ(a0, . . . , an−1) =
n−1∑
i=0

ai [OX(−i)]

�� 
 ���3��
��� ������������ �� K0(Y )���������



K������
 �

�	 
�� �
��� �
	�� �
 �� '	��	 
�



Rmp∗OX(i) = 0 ��� ����� m > 0, i ≥ 0

p∗OX(i) = SymiE ˇ ��� ����� i ≥ 0
Rmp∗OX(i) = 0 ��� ����� m ≥ 0, 1 − n ≤ i ≤ −1.

���� ��� 
�� �
�

ψ : K0(X) →
⊕n−1

i=0
K0(Y )

ψ ([F ]) = (p∗ [F ] , p∗ [F(−1)] , . . . , p∗ [F(1 − n)]) ,


�� �������
��	 ψ ◦ ϕ : K0(Y )n → K0(Y )n �� ����	 �� 
	 ����� 
��
	���
� �

���
��
� �	�
� �	 
�� ��
��	
�� ����� ������� 
�

 ϕ �� �	3��
����

�����3 ���� &� �
��� ��	�� � �	�� ������� �����	� 	� �
� "�	#������ 3�����
�
�	��� �� �
�	��� 4�5 ���	��

)� K������� �� �	����

)��� K1(F ) � , K2(F ) .��!�$�"!" 
-�"���0� ��
� ���� �!��
� ������ 	��

��	� �� K1(R)� K2(R) ���� ���	� ���	 ��
���
 
�����
��	 
�

 R �� �����


����
+��	��.� ���' /�20 �� 
	 �������	
� �
�� 
	� �������	

�	�� ������
��	 �� 
��� �
�
 ��
����������	
 �� 
�� 
������
��� ����� GLn(R) �
� �� ���	
���� ��
� 
 �������� �� GLn+1(R) �� ����'

��
��	
� �

����� ��
� 1 �	 
�� ����
 ����� ���	��1

A �−→
(
A 0
0 1

)
.

��� �!�" '���

GL(R) = lim→ GLn(R)

E(R) = lim→ En(R)

�
��� En(R) �� � �����	�� 	� GLn(R) ��������� �� ��� ���������� ���������

C��
�� 
�

1

• 
 ����� G �� 
 ������� ��	�� �! G �
� 
����
� ��	
�� 
	� G �� �5�
� 
� �
�
�����


�� ���������

• 
 ����� �� ������
 �! �
 �
� 
�� �	�����
� ��	
�
� ��
�	���	�
• 
�� ����� E(R) �� ������
�

*��� /�2� LB0-

��� �!�" '��� �
�  �������� ��	�� St(R) �� � ��������� ������� �$�����	� 	� �
�
��	�� E(R)�

��� �!�" '�'�

K1(R) = H1(GL(R),Z) = GL(R)/[GL(R),GL(R)] = GL(R)/E(R)

K2(R) = H2(E(R),Z) = ker (St(R) � E(R))

K3(R) = H3(St(R),Z)



� ����� �	
�����


(� R �� 
 �����


��� ��	�� 
���� �� 
 ������������

R∗ ∼−→ GL1(R) ↪→ GL(R) � K1(R).

(� R �� 
 �����


��� ��	�� 
��	

det : GL(R) −→ R∗

�
�
��� 
������ K1(R) 
	� ����
� 
�� ������������ R∗ → K1(R)�
��� ����� K2(R) �
� �� ��
�
�
���"�� 
� 
 '��	�� �� �	�����
� ��	
�
� ��
�	���	

�� ������
 ����� E(R)� ����� �� 
 �������� �� GL(R) ��	��

�� �� *��
��� ��-
�����	

�� �

����� 
	� ���	����� ��
� 
�� �����


�� �������� [GL(R),GL(R)]�
(	 
�� �
�� �� 
 ����� �
 �� �
�� 
� ��� 
�

 K1(F ) �� 
 ���
�����

��� ����� �� F 1

det : K1(F ) ∼−→ F ∗.

(	 ��	��
�� 
�� ��
����	
	
 �
� ���	�� 
 ����

�	� �����������

det : K1(R) � R∗


	� 
�� '��	�� �� ���
��� ��	�
�� 
� SK1(R)�
�� ���� ��� 
	 
���
��� 	�


��	 ��� 
�� �����K1(F )� >	 �����	
 ��������	��	�


� a ∈ F ∗ �� ��	�
�� �� {a} *�
 �� 	�
 
 ��
M-� ��

{−} : F ∗ ∼−→ K1(F )
{ab} = {a} + {b}
{1} = 0.

E���� �����	
 �� K1(R) 
����� ���� 
	 
�
��������� �� 
 ���� R�������� (	
�
�
����
�� �� E/F �� 
	 �	�
� ���� ��
�	���	� 
��	 
���� 
�� �
	�	��
� 
�
	����
�
��

• NE/F : K0(E) → K0(F ) ����� 
� 
 ����� ������������ ���	����� ��
�
���
�����

��	 �� 
�� ������ [E : F ]�

• NE/F : K1(E) → K1(F ) ����� ���	����� ��
� ���
� 	���� ��	�� 
�� ���
�
	��� �� x ∈ E· �� ��
����	
	
 �� ���
�����

��	 x · − : E → E�

K������
��	 �� K2(F ) �� ���� �������

��� >  �������� ����	� ��
� �
���� �	 
	

����
	 ����� A �� 
 �
� f : F ∗· × F ∗ → A �����1

• �� �����
�����

���� ����
f(ab, c) = f(a, c) + f(b, c), f(a, bc) = f(a, b) + f(a, c)

• �
	����� �	 �
��� (a, b) ���� 
�

 a+ b = 1�

f(a, 1 − a) = 0.

+

����
� 
	� *�	����	��	
��- +���� ������ 
�

 K2(F ) �� 
�� ����� �� �
����
�� �	�����
� %
��	���� ������1


-�"��� '�� *+

����
�-�

K2(F ) ∼= F ∗ ⊗ F ∗/S

�
��� S �� � �����	�� 	� F ∗ ⊗ F ∗ ��������� �� ��� a⊗ b ���
 �
�� a+ b = 1�

F�� 
 ����� ��� /�20� �� ��� 
�� 	�


��	

{a, b} = a⊗ bmodS.



K������
 �

���� 
�� ���	
�
���

{ab, c} = {a, c} + {b, c}, {a, bc} = {a, b} + {a, c},*)��-

{1, a} = {a, 1} = 0,*)�#-

{a, 1 − a} = 0 ��� a 
= 1*)�)-

���� �	 K2(F )� ��� �
�

{−,−} : F ∗ × F ∗ −→ K2(F )

�� �
���� �
� ���������  �������� ����	��
����� �� 
 
�
	���� �
� NE/F : K2(E) → K2(F )� ��
 �
 �� 	�
 �� �
�� 
� ���
�

������
 ��� �
 *��� G���
 6��B 
	� ?������
��	 6��2 ����� ��� 
�� �
�� (E : F ) = 2�-
(
 �� ���
� 
� ���	
 ��
 
�

 
���� 
�� 	

��
� ���
�����

��	�

K0(R) ⊗Ki(R) → Ki(R),
K1(R) ⊗K1(R) → K2(R);

�	 
�� �
�� �� 
 ���� 
�� �


�� ��

{a}{b} = {a, b}

	� �� =��
��� �����


���= *��� E������� H �	 �
�� �<-� F�� 
 �	�
� ���� ��
�	���	�

�� ���3��
��	 ������


NE/F ({a} · {x}) = {a} · {NE/F (x)}
��� a ∈ F ∗� x ∈ E∗� ������

)�#� ��� "� K	!-�"�/ "4 ���,�� ��� +

����
� ������� )�� �
� 
 ��
��

��	
��� N� +��	�� �	 �;6< */�B0- 
� ���	�� ��� 
 ���� F � 
 ��
��� ��	�

KM
∗ (F ) = K0(F ) ⊕K1(F ) ⊕K2(F ) ⊕KM

3 (F ) · · · ⊕KM
n (F ) ⊕ · · ·

����� �
� �	
����
�	� ��		��
��	� ��
� 
�� 
����� �� 5�
��

�� ����� 
	� &
����
����������� 
� 
	 
�������

��	 �� K�
������

��� �!�" '�(� 0�� T •(F ) �� �
� ����	� ������� 	� � Z��	���� F ∗

T •(F ) =
⊕∞

n=0
(F ∗)⊗n

��� ��� I �� �
� ��	������ ����� 	� T •(F ) ��������� �� ��� �$������	�� a ⊗ b ���

�
�� a+ b = 1� �
��

KM
• (F ) df= T •(F )/I.

��� ���
� I �� ������	����� �� KM
• (F ) �� 
 ��
��� ��	�� +��	��.� K������

KM
n (F ) �� 
�� n�
� ������	���� �����	�	
 �� KM

• (F )� 
	� KM
n (F ) = Kn(F ) ���

n = 0, 1, 2� �� ���
��� ���
�

{a1, a2, . . . , an} = a1 ⊗ a2 ⊗ · · · ⊗ an mod I.

+��	�� �
� 
��� 
� ����� 
�� �������	� 
������1


-�"��� '��� �� F (t) �� � ���� 	� ����	��� ������	�� �� t� �
�� �
��� ��� ����� �$���
��%������

0 → KM
n (F ) → KM

n (F (t)) →
⊕

πKM
n−1(F [t]/π) → 0

�	� n = 1, 2, . . .� �
��� π ���� 	��� ��	��� �	���� 	� �
� �1�� ���� SpecF [t]�

"�		�� /�B� ������� #�)0



�� ����� �	
�����


)�)� 5$���� K	!-�"�/ "4 � �!� ���,�� �	��	 �
���� �� K���	�
�� ��� 
 ��	� R
��� K� ,�����	 
� ��� ����
��� 
����� ��
���� 
� �����
� 
�������

� ��������
�������
(	 �;2; ,�����	 �	
������� 
 9+���	�
���
��	=1 ����	 
 ���	
�� 
������ ��	�

	��
�� 7��������� (X,x)� 
	� ������
 	���
� �������� H ⊂ π1(X,x)� 
���� �� 

�
� �� 7����������� f : (X,x) → (X+, x+) ���� 
�



• f �	����� 
	 ����������� π1(X,x)/H
∼→ π1 (X+, x+)D

• f �	����� 
	 �����������H•(X, f∗L) ∼→ H• (X+, L) ��� ����� ���
� ���
��
�� ��� ���	
� L �	 X+�

����� ����
� 
�� ����������� ����� BGL(R) �� 
�� ����� GL(R)� ���� 
�



H•(GL(R)) = H•(BGL(R)) 
	� H•(GL(R)) = H•(BGL(R)).

>�����	� 
�� +���	�
���
��	 
� 
��� ��
������	� ��
�� ������ 
�� �������	� ���	�
��	
*/##0-1

��� �!�" '�)� '	� i > 0�

Ki(R) = πi(BGL(R)+).

��� ��
�� BGL(R)+ �� ��		��
��� �� π0(BGL(R)+) = 0� 7�	����� 
�� ���3��	

�	��	 K0(R) × BGL(R)+ �� ������ �� ��		��
�� ��
�� BGL(R)+ � �	� ��� �
��
�����	
 �� K0(R)� ���� ��
�� �
� 
�� �
�� ������ ����
��� ������ 
� BGL(R)+

*������ ����
��� ����� �� ����	� �	 
�� ��		��
�� �����	�	
 �� 
�� �
�� ���	

�	��-� +�������� π0(K0(R) ×BGL(R)+) = K0(R) �� 
�� ��	�
���
��	� ��

Ki(R) = πi(K0(R) ×BGL(R)+)

��� 
�� i ≥ 0� ��� ������
 K0(R) × BGL(R)+ �� 
�� ���
 ��
���� �� �� �
���� K�
�
�	�� ����� � 
 ��
�� ����� ����
��� ������ 
�� �������K�������� O�
� 
�

 ����

 ��
�� �� ���	�� �	�� �� 
� ����
��� �5���
��	��� ��	�� BGL ��� ��� ������ 
���
=
 ����
��� 
��� �� ��
���= �� ���� ��	��� 
�
	 =��
��=� �� �� ��� 	�
����������

	�
��	 =K�
����� ��
��=�
��
� 
��� ���	�
��	 ,�����	 �
� 
��� 
� �����
� K������� �� 
 �	�
� ���� Fq

��
� q �����	
�1


-�"��� '�'� '	� i > 0

K2i(Fq) = 0�

K2i−1(Fq) = Z/(qi − 1).

�� Fq ⊂ Fr� �
�� Kn(Fq) ⊂ Kn(Fr) �	� ��� n�

(	 �
�
����
�� 
��� ����� 
�

 +��	�� K�
������ 
�
���� ������� ����� 	� ������
�
���� �� Kn(F ) ��� n > 1�

�������� '���

*�-  ������� �
� �$������	�
1 − x

1 − x−1
�

*#- 6�� �
�� �	 �
	� �
�� {x,−x} = 0 �� K2(F )�
*)- 2����� �
�� {x, x} = {x,−1}�
*H- 2����� �
�� {x, y} + {y, x} = 0�

�������� '��� -����� �
�� F �� � ����� �����

*�-  
	� �
�� �	� ����� a, b ∈ F ∗� �
� �%����	� ax2 + by2 = 1 
�� � �	����	� ��
F �



K������
 ��

*#- 6�� �
�� ��� �
� ���� �
�� �
� ��	�� F ∗ �� ������ �	 ��	�� �
�� K2(F ) = 0�
*)- 2����� �
�� KM
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�����	�� A� ��	��� ����� �$�����	�� �� A� ���
 � ������ E 	� �$��� ��� A� ��%������

*H��- 0 →M ′ α→M
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�
 ��5��	���� ���������� �
� �	��	���� �	�����	��.
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���� �� 
	�
��� �
� 
� ���	� 
	 ��
�
 �

������
�� ���� ��� 
����� � 
	� � 
� ��	�
� 
��������� ��	���������� 
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������� (��� M = A� E �� �
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������� (��� M = A� E �� �
� ������ 	� ��� ����� �$��� ��%�������

������� (�'� A �� �
� �����	�� 	� ������� ��������� ���� R��	������ M �� �
� ����
��������	�� 	� ��	#������ �	������ E �� �
� ������ 	� ��� ��%������ �
�� ��� �$��� ��
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������� (�(� X �� � ��
���� A �� �
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����� OX��	������ M ��
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�� ���
�$��� �� A�

H���#� �
� Q��	�������	�� F�� 
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 ��������
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 �������� M
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�� �	� � ����������� �%����

N �� α ��

�β
����

M ′

δ
����

M ��
γ

�� N ′

���
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���	 ��
�
 �

������� �	����� 
 ��	�
�� QM → QM′� M �→ FM �
α! �→ (Fα)!� β! �→ (Fβ)!� >��� ��� 
�� ��
� �

����� Mo �� 
	 ��
�
 �

����� M

���� �� 
	 ����������� �� �

�������

QMo = QM

���� 
�

 
�� �	3��
��� 
����� �	 
�� ������ ��������	� 
� 
�� ���3��
��� 
����� �	

�� �


�� 
	� ��	��������

H���H� ��	�	��
����� F�� 
	 ����������� N
α� M � 
�� �
�� α! : N → M 
	�

α−1! : N →M 
�� �5�
� ��	�� 
���� �� �����


��� ��
��
�

N N
1N���� �� α ��

α

��

M

N M
α−1
���� �� 1M �� M

7�	�������� 
 �
� �	QM ����� �� ��
� �	3��
��� 
	� ���3��
��� �� 
	 �����������

	� �
 �� �� 
�� ���� α! = α−1! ��� 
 �	�5�� ����������� α �	 M�



K������
 ��

H���B� :��	 ����� G�
 �� ��	�
� 0M : 0 � M 
	� 0M : M � 0 �	�5�� �
�� �	 
��

���
��� �

����� M� ��� ��
 MorQM(0,M) �� �	 1 − 1 ��������	��	�� ��
� 
��
��
 �� 
��������� �����3��
� �� M *���� 
��������� ��	���������� N

α� M �� 
�

�
��������� �� N ����M-� ��	�� �
�� ���� 
 �������� �� 
�� ���	�
��	 �� ����	
�� ��
��
�

0M
α : 0

0N� N
α� M.

���� 
�� ��
 MorQM(0,M) �� ��������� ���� 0 
� M �� �
�
�
��� ������� ��
�

�� ��
����
 �����	
 0M

! 
	� 
�� ���

��
 �����	
 0!
M � ����� 
�� ���������
��	�

0M
! = α! ◦ 0N

! 
	� 0M
α = α! ◦ 0!

N ��	�� �
�� ���� 
 �������� ��� �� ���	�
��	� ����	
�� 
�� ��
��
�1

0×NN = 0 �� ��

�

N �� α ��

����

M N×NN = N

�

N �� α �� M

0 �� ��

����

N

α!

����������

	� N

����

N

α!

����������

0
0N
!

�������������
0

0!
N

��













K�
���� ����	 
��������� ����������� M
β
� M ′′ ��
� '��	�� N

α� M � 
���� 
��
���������
��	� 0!

M = β! ◦0!
M ′′ 
	� 0M
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β
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� 1�������� 0M
! : 0 →M �

���� 
������ �
� 
 ��
��

��	 ��� 
�� �������	� ���	�
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� ����������� ����� 	� �
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������� (�)� - ��	�������� �����8���	� 	� �
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��� �	��
���� +� 	� � ��
��� ���
 � 
	�� 	� � ��	�������� �
��� ���� ,� � �	������ 	� ���

���� 	� �
� ���� �� � �		� �	�����	����� �	 	�� 	� 	�#���� M ′,M,M ′′ ���
 ���
 ��
	��������	� �
�� ��� 	� �
� �		� 	� �
� ���	�#��� ��� �
� �		� 	� �
� ����	� �� �
�
�		� 	� M �

������� (�*� - �	�� �$��� ��%������ ����

0 → A
α−→ B

β−→ C
γ−→ D → 0

��� �� ����� ���	 ��	 �
	�� �$��� ��%������ �� E = Imβ = kerγ ��� ���������
�	����$�� ��� ����� �	���
�� ��	�� �
� �	������ 	� �
� 
	�� �	�����	����� �	 E ���	
� ��
��� ���
 �	����	��� 
	���



K������
 ��

�	���� �� 7�		��
�	� 0 ���
����

�	���� �� ?
�
���
�

������� (�+� ����� ��	 �
	�� �$��� ��%������ ���
 �
� ���� ���	�#���� � �	���
	�#��� ��� � ����	� ��	 ������ �	���� �
	�� �$��� ��%������ �
��� ��� ��	 ��	����

	��� ��
���� ���
 �	��	� �	������ 	� �
� 
	���� �
�� ������ �� ������� 	�
π2(B(QM), 0)� -� <����
�� ��	��� �/�80� /�;0� �
�� �	� ��������� �$��� �����	��
M� ����� ������� 	� K1(M) �� ����� �� � �	���� �
	�� �$��� ��%����� �� �
�� ����
=	��	���� 
� ���� � ������ 	� ������� ������	�� �	� K1(M) �� ����� 	� �	���� �
	��
�$��� ��%�������



�� ����� �	
�����


�	���� �� 7����������� ������

>	� ��
�
 ��	�
�� f : M → M′ �	����� 
 ��	�
�� Qf : QM → QM′� 
	� ��	��

 ������������ �� K������� ����� �� ��	�
� ��

f∗ : K•(M) → K•(M′).

> 	

��
� 
�
	�����

��	 Qf → Qg �� ��	�
��� �	����� 
 ����
��� ��
���	 �
��
B(Qf) 
	� B(Qg)� �� 	

��
��� �5���
��	
 ��
�
 ��	�
��� f, g : M → M′ �	����

�� �
�� ������������ f∗ = g∗�

������� (�7� ����� ��	 �$��� �����	���� M,M′ 	�� ��� �	����� �
� ��	���� M×
M′ ���	 �$��� �����	�� �� �
� 	���	�� ���� (������ Q (M × M′) = Q (M)×Q (M′)
��� (pr1, pr2) �� �� ��	�	��
���

Ki (M × M′) = Ki (M) ⊕Ki (M′) .

������� (�8� 0��

f ′ � f � f ′′

�� �� �$��� ��%����� 	� �$��� �����	�� ��	� �� �$��� �����	�� M �	 �� �$��� �����	��
N� �
��

f∗ = f ′∗ + f ′′∗
�� 
	�	�	��
���� Ki(M) → Ki(N)�

���� �
� �� ��	��
��"�� 
� �������� �� �
� 
�

 
 ��
�

��	

0 = f0 ⊂ f1 ⊂ · · · ⊂ fn = f : M → N

�� 
	 ���������� �������	� �! fp−1(X) → fp(X) �� 
	 
��������� ��	��������� ���

�� X 
	� p� ���� ������� 
�

 
���� ����
 5��
��	
 ��	�
��� fp/fq ��� 
�� q ≤ p 
	�
�� fp/fp−1 
�� ��
�
� 
��	 
�� 5��
��	
� fp/fq 
�� ��
�
�

������� (��9� �� f : M → N �� �� �$��� �����	� ������� �$��� �����	���� �%������
���
 �� ���������� �������	� 0 = f0 ⊂ f1 ⊂ · · · ⊂ fn = f ���
 �
�� �
� �	���������



K������
 ��

%�	������ �����	�� fp/fp−1 ��� �$���� �
��

f∗ =
n∑

p=1

(fp/fp−1)∗.

������� (���� �� �
��� �� �� �$��� ��%�����

0 → f0 → f1 → · · · → fn → 0

	� �$��� �����	�� M → N� �
��

n∑
p=0

(−1)p(fp)∗ = 0.

������� (���� 0�� X �� � ������ ������ P(X) � �
� �����	�� 	� ����	� �������
	� X ���
 �
� ����� �	��	� 	� �� �$��� ��%������ Ki(X) = Ki (P(X))� ����� E ��
P(X)� �
��� �� �� �$��� �����	�.

E ⊗OX − : P(X) → P(X)

�
��
 ������� � 
	�	�	��
��� (E ⊗OX
−)∗ : Ki(X) → Ki(X)� ��

0 → E′ → E → E′′ → 0

�� �� �$��� ��%����� 	� ����	� �������� �
��

(E ⊗OX
−)∗ = (E′ ⊗OX

−)∗ + (E′′ ⊗OX
−)∗.

�
�� �
��� �� � ��	����

K0(X) ⊗Z Ki(X) → Ki(X)

[E] ⊗ x �−→ (E ⊗OX
−)∗(x).

(	 �
�
� 
���� 
�� ������
� Ki(X) ⊗Z Kj(X) → Ki+j(X) ����� ��	��
��"� 
��

���� 
	� �
'� K•(X) �	
� 
 ��
���������


��� ��	� ��
 
�� ��	�
���
��	 ���
5����� ���� �
���	����

������� (��'� �� X �� � ��
���� �
�� �
��� ��� �$��� �����	��

E ⊗OX
− : P(X) → P(X)

E ⊗OX
− : M(X) → M(X)

�
��
 ����� � K0(X)��	���� ��������� 	� �	�
 K.(X) ��� K ′.(X)�

H�)� ��%����6� � , �"����1�!�" � �:���� ��!�6"����� ����	��
� 
������� �	
����
��� 
����� �� �

������� � ,�����	.� ������� > 
	� 4 */#)� L60- � ����� �����
�
�	 K�
����� �� 
����
	 �

��������
G�
 A �� 
	 
����
	 �

����� �
��	� 
 ��
 �� ����������� ��
��� �� ��3��
��

��
� 
�� ����
 ��
�
 ��5��	��� 
���������� G�
 �������� B �� 
 	�	����
� ����
����

����� ������ �	��� 

'�	� �����3��
�� 5��
��	
 ��3��
� 
	� �	�
� ������
�
�	 A� ��
� 
�� ����
 ��
�
 ��5��	��� 
���������� ���� B �� 
	 
����
	 �

����� 
	�

�� �	������	 ��	�
�� B → A �� ��
�
�
���	 QB �� 
 ���� ����

����� �� QA ��	���
�	� �� 
���� ��3��
� ����� 
�� 
���

��3��
� �� B�



�� ����� �	
�����



-�"��� (�( *K�����
��-�  ���	�� �
�� ����� 	�#��� A 	� ������� �����	�� A 
��
� ����� �������	�

0 = A0 ⊂ A1 ⊂ · · · ⊂ An = A

���
 �
�� Aj/Aj−1 �� �� B �	� ���
 j� �
�� �
� �������	� QB → QA �� � 
	�	�	��
�%���������� �	 Ki (B) ∼= Ki (A)�

"�		�� /#)� LB� ������� H0�

������� (��(� 0�� A �� �� ������� �����	�� ���
 �
��.
• �
� ��	�	��
��� ������� 	� 	�#���� 	� A �	�� � ����
• ����� 	�#��� 	� A 
�� ����� �����
 �
�� � ����� �������	� ���
 ������ 	�#���� ��
�	��������� ����	����
�
��

Ki (A)∼=
∐
j∈J

K (Dj)

�
��� {Xj : j ∈ J} �� � ��� 	� ��������������� �	� �
� ��	�	��
��� ������� 	� ������
	�#���� �� A� ��� Dj �� �
� �
�� ���� End(Xj)op�

������� (��)� �� I �� � ����	���� ��	������ ����� �� � �	��
����� ���� R� �
��
K ′i(R/I) ∼= K ′i(R)�

��� ����	� �����
 � ��	� ��
�
 ����
��� ��5��	�� � �� 
�� �
�	 
��� ��� �������	�
��	� ��
�
 ��5��	�� �� ���
��"

��	�


-�"��� (�) *G��
��"

��	-� 0�� B �� �  ���� ��������	�� 	� �� ������� �����	�� A�
��� A/B �� �
� ���	������ %�	����� ������� �����	��� ��� ��� ε : B → A� σ : A → A/B
���	�� �
� ���	����� �����	��� �
�� �
��� �� � �	�� �$��� ��%�����

· · · σ∗→ K1 (A/B) ∂→ K0 (B) ε∗→ K0 (A) σ∗→ K0 (A/B) → 0

"�		�� /#)� LB� ������� B0�

���� �� 
 ����
��� ��	� ��
�
 ��5��	�� �� 
 *����
���- ���

��	 B(QB) →
B(QA) → B (Q(A/B))D �
 �� 	

��
� �	 A,B�

������� (��*� �� R �� � 2���
��� �	���� �������� �	���� �	���� 	� �������	�
1� ���
 %�	����� ���� R(0)� �
�� �
��� �� � �	�� �$��� ��%�����

· · · → Ki+1

(
R(0)

)
→

∐
m∈SpecmR

Ki (R/m) → Ki(R) → Ki

(
R(0)

)
→ · · ·

B� K ′• �� �������	�� �������

��� �

����� M(X) �� ������	
 OX �������� �	 
 	��
����
	 ������ X �� 
	

����
	 �

������ �� 
�� K�����
�� 
	� G��
��"

��	 �������� 
����� �� ���
 ����
��
�
��� �����
�� �������	� /#)� L60�

B��� �$ ,��� !�� 
-�"����


-�"��� )��� �� R �� � �	��
����� ����� �
�� �
��� ��� ���	����� ��	�	��
����

K ′i(R[t]) ∼= K ′i(R),

K ′i(R[t, t−1]) ∼= K ′i(R) ⊕K ′i−1(R)



K������
 ��

�� R �� �������� �
��� ��� ���	����� ��	�	��
����

Ki(R[t]) ∼= Ki(R),

Ki(R[t, t−1]) ∼= Ki(R) ⊕Ki−1(R).

"�		�� /#)� L2� ������� 80�

(	 ��	��
�� �� 
 	��
����
	 ���
�

�� ������ X �� �����
�� 
��	 
�� 7
�

	 ���
���������� Ki(X) → K ′i(X) �� 
	 ������������

B�#� �$ �!"�����!/# �"����1�!�" # -"�"!"�/ ��"���!/� (� f : X → Y �� 
 ����
����� �� �������� 
��	 
�� �	����� ��
�� ��	�
�� f∗ : P(Y ) → P(X) �� ��
�
 
	�
�	����� ������������ �� K������� ����� �� ��	�
�� f∗ : Ki(Y ) → Ki(X)�
(� f : X → Y �� 
 P

 �������� �� �������� 
��	 
�� �	����� ��
�� ��	�
��

f∗ : M(Y ) → M(X) �� ��
�
 
	� �	����� ������������ �� K������ ����� ��
��	�
�� f∗ : K ′i(Y ) → K ′i(X)�
(	 ��
� �
��� 
�� ������


(fg)∗ = g∗f∗

������
���� Ki ������� 
 ��	
�
�
��
	
 ��	�
�� ���� 	��
����
	 ���
�

�� �������


� 
����
	 ������ 
	� K ′i ������� 
 ��	
�
�
��
	
 ��	�
�� �	 
�� ����

����� ��
	��
����
	 ���
�

�� ������� 
	� P

 ���������� %��� ����
��� 
����� �� 	�����

� ����� 
�

 Ki 

'�� ��
���� ���3��
��� ����
� �� ������� ��
� 
 	� 
�
	��
��	
�
�� 
� ��
���� �	3��
��� ����
� �� 
����
	 ������� 
	� K ′i 

'�� ���� 
 ����
� ��
�
P

 
 	� 
�
	��
��	 �
�� 
� 
�������

� ����
� �� 
����
	 �������
G�
 f : X → Y �� 
 ������ ��������� �� 
�

 
�� ������ ������� ��
�� ��	�
���

Rif∗ �
��� ������	
 ���
��� �	 X 
� ������	
 ���
���� G�
 F(X, f) ��	�
� 
�� ����
����

����� �� M(X) ��	���
�	� �� ���
��� F ���� 
�

 Rif∗(F ) = 0 ��� i > 0�
��� ��	�
�� f∗ �	����� 
 ������������

f∗ : K ′i (F(X, f)) → K ′i(Y ).

(	 
�� �
�� ���	 f �� �	�
�� �	 �
�
����
�� ���	 f �� 
 ������ ��������	� F(X, f) =
M(X)�
(	 
�� �
�� ���	 X �
� 
	 
���� ��	� ��	���� ����� ������	
 ���
� �	 X �
	

�� �������� �	 
	 ��3��
 �� F(X, f)� ����� ������� 
�

 
�� �	������	 F(X, f) →
M(X) �	����� 
	 ����������� �	 K ′��������
(	 ��
� �
��� 
 ������������ f∗ : K ′i (X) → K ′i(Y ) �� ���	���

&�"�"��!�" )�� *?��3��
��	 F�����
-� �� �	� f : X → Y �	�
 f∗ : K ′i (X) →
K ′i(Y ) ��� f∗ : K ′i(Y ) → K ′i (X) ��� ������� �
�� �	� x ∈ K0(X)� y ∈ K ′i(Y ) �
�
�%�����.

f∗ (x · f∗(y)) = f∗(x) · y
�� K ′i(Y ) 
	����

"�		�� /#)� L6� ?������
��	 #��<0�

G�
 ι : Z → X �� 
 ������ ��������� �� X � 
	� ��
 I �� 
�� ������	
 ���
� ��
���
�� �	 OX ���	�	� Z� ��� ��	�
�� ι∗ : M(Z) → M(X) 
����� �� 
� ���	
���
������	
 ���
��� �	 Z ��
� ������	
 ���
��� �	 X 
		����

�� �� I�

&�"�"��!�" )�'� �� I �� ����	����� �
�� ι∗ : K ′i (Z) → K ′i(X) �� �� ��	�	��
����
�� ���������� K ′i(Xred) ∼= K ′i(X)�



�� ����� �	
�����


O�� �� ��
�	� 
�� ��
�
 ��5��	�� �� G��
��"

��	 ������� #�B1

&�"�"��!�" )�( *G��
��"

��	-� 0�� j : U → X �� �
� 	��� �	�������� 	� Z ��
X� �
� �
��� �� � �	�� �$��� ��%�����

· · · → K ′i+1(U) ∂→ K ′i(Z) ι∗→ K ′i(X)
j∗→ K ′i(U) → · · · .

"�		�� ��� ��	�
�� j∗ : M(X) → M(U) �	����� 
	 �5���
��	�� �� M(U) ��
�

�� 5��
��	
 �

����� M(X)/B� ����� B �� 
�� %���� ����

����� ��	���
�	� ��
������	
 ���
��� ��
� ������
 �	 Z� K�����
�� ������� 
�

 ι∗ : M(Z) → B �	�����
����������� �	 K�������� �� 
�� ������� ��
�
 ��5��	�� �����
� ���� H�B�

�� ��
� 
� 
	 ������

� 
�����

��	� 
�� �������	� ��	��
��"

��	 �� 
�� F�	�
�
��	

� ������� B��1

&�"�"��!�" )�) *:���
��� ?�����
�-� 0�� f : P → X �� � >�� ��� �
	�� �����
��� �1�� ������� �
�� f∗ : K ′i(X) → K ′i(P ) �� �� ��	�	��
����

"�		�� (
 ������� �� 	��
����
	 �	���
��	� �

�
�	� ���� 
 ������ ���	
 
	� �
���	�

� ��	���� ���	
� ��	�� 
�� 
 	� �
�� �� ������ � ��� /#)� L6� ?������
��	 H�60�

B�)� ���!��!�" # K	�"-"�"�"6/# ��"; 	����!� 	5$���� ����!��� ��<$� ��#
�-"; �� 6� G�
Mp(X) ��	�
� 
�� %���� ����

����� ��M(X) ��	���
�	� �� 
����
���
��� ����� ������
 �� �� ������	���	 ≥ p� (
 �� ���
� 
�



Ki (Mp(X)) = lim→ K ′i(Z)

����� Z ��	� ���� ������ �����
� �� ������	���	 ≥ p� +������� ����

�������
Mp(X) 
�� ��������� �� P

 �	����� ��
�� ��	�
�� 
	� �� ��
���� ���3��
��� ����
�
��
� 
 	� P

 
�
	��
��	 �
���


-�"��� )�*� 0�� Xp �� �
� ��� 	� �	���� 	� �	�������	� p �� X� �
��� �� �
� �	��
�	���� 3�	�����������7������ �������� ��%����� ��
	����. 3�7 �������� ��%������

Ep,q
1 (X) =

∐
x∈Xp

K−p−q (k(x)) =⇒ K ′−n(X)

�
��
 �� �	�������� �
�� X 
�� ����� �������	�� 3�7 �������� ��%����� �� �	��
���������� �	� >�� �	��
����� �� X = lim← Xi� �
��� i �→ Xi �� � ������� ��	#������

������ ���
 >�� �1�� ��������	� �	��
����� �
�� �
� 3�7 �������� �%����� �	� X
�� �
� ��������� ����� 	� �
� 3�7 �������� ��%������ �	� �
� Xi�



K������
 ��

���� ��5��	�� �� ��	��	
�

�� �	 
�� �
	�� p ≥ 0� p+ q ≤ 0D �� dimX = d 
��	

�� E1�
��� ���'� 
� �������1∐

x∈X0

K0 (k(x))

∐
x∈X0

K1 (k(x)) ��
∐

x∈X1

K0 (k(x))

���
���

∐
x∈X0

Kd (k(x)) ��
∐

x∈X1

Kd−1 (k(x)) �� · · · ��
∐

x∈Xd

K0 (k(x))

∐
x∈X0

Kd+1 (k(x)) ��
∐

x∈X1

Kd (k(x)) �� · · · ��
∐

x∈Xd

K1 (k(x))

���
���

���

"�		�� 7�	����� 
�� ��
�

��	

M(X) = M0(X) ⊃ M1(X) ⊃ · · ·
��M(X) �� %���� ����

�������� ����� �� 
	 �5���
��	��

Mp(X)/Mp+1(X) ∼=
∐

x∈Xp

⋃
n

M (OX,x / (rad (OX,x))n)

����� ������ 
	 �����������

Ki (Mp(X)/Mp+1(X)) ∼=
∐

x∈Xp

Ki (k(x))

����� k(x) �� 
�� ������� ���� 

 x�
G��
��"

��	 ��
�
 ��5��	���

→ Ki (Mp+1(X)) → Ki (Mp(X)) →
∐

x∈Xp

Ki (k(x)) → Ki−1 (Mp+1(X)) →

���� 
	 ��
�
 ������1

D �� D



��
��

��
�

E

���������

�����
D =

∐
i,p

Ki (Mp(X)) , E =
∐
i,p

∐
x∈Xp

Ki (k(x))


	� ���� ���� 
� 
�� 4&, ����
�
� ��5��	�� �	 
 �

	�
�� �
� *��� ��� /�#� $(�B0-�



�� ����� �	
�����


��� ��
�

��	� 
����	� �	 K ′n(X) ���� 
�� 4&, ����
�
� ��5��	�� �� 
�� �	�
����	 �� ������	���	 �� ������
1 F p+1K ′n(X) ��	���
� �� �����	
� �� K ′n(X) �����
�
	��� 

 ��	���� ���	
� �� ���������� �� ������	���	 ≤ p�
�	� �� �����
��� 
�����

��	� �� 4&, ����
�
� ��5��	�� �� 
�� �������	�1


-�"��� )�+� 0�� X �� ������� ��
��� 	� ����� �������	� 	��� � ����� �
��
�
��� �� � ���	����� ��	�	��
���

Ep,p
2 (X) = CHp(X).

"�		�� /#)� L6� ?������
��	 B��H0�

(	 �
�
� 
�� �����
∐

x∈Xp

K0 (k(x)) =
∐

x∈Xp

Z �� 
 ����� �� ������	���	 p ������

�	 X � 
	� �	� �
� ����' 
�

 ��
�� ��
∐

x∈Xp−1

K1 (k(x)) →
∐

x∈Xp

K0 (k(x)) *��∐
x∈Xp−1

k(x)∗ →
∐

x∈Xp

Z- �� ��
�
�� 
�� ����� �� ������ ��	�
��� �5���
��	
 
� 0�

F�� y ∈ Xp−1 
	� x ∈ Xp 
�� yx �����	�	
 �� ������	
�
�
∐

y∈Xp−1

k(y)∗ →
∐

x∈Xp

Z


����	� 
� f ∈ k(y)∗ 
�� ���
������
� �� �
� 0 �	 x�
>	�
��� ������
� �� 
�� 4&, ����
�
� ��5��	�� �� ��		��
�� ��
� 
�� �� �
����

&���
�	 7�	3��
����

&�"�"��!�" )�7� �
� �	��	���� �	�����	�� ��� �%��������.
��� '	� ����� p ≥ 0 �
� �������	� Mp+1(X) → Mp(X) ������� 0 	� �
� K���	���9

���� '	� ��� q� Ep,q
2 = 0 �� p 
= 0 ��� �
� ���� 
	�	�	��
��� K ′−q → E0,q

2 �� ��
��	�	��
���9
����� '	� ����� n �
� ��%�����

*B��- 0 → K ′n(X) →
∐

x∈X0

Kn (k(x)) →
∐

x∈X1

Kn−1 (k(x)) → · · ·

�� �$����

&�"�"��!�" )�8 *&���
�	-� 0�� K′n ���	�� �
� :����
� �
��� 	� X ���	������ �	 �
�
����
��� U �→ K ′n(U)� -����� �
�� Spec (OX,x) �������� �
� �%�������� �	�����	��
	� "�	�	����	� ?�@ �	� ��� x ∈ X� �
�� �
��� �� � ���	����� ��	�	��
���

Ep,q
2 (X) = Hp(X,K′−q).

"�		�� �� ��� 
�� ��5��	��� *B��- ��� ��!���	
 ���	 �����
� �� X 
	� �� ���
���

��� 
� ��
 
 ��5��	�� �� ���
���

0 → K′n →
∐

x∈X0

(ix)∗ (Kn (k(x))) →
∐

x∈X1

(ix)∗ (Kn−1 (k(x))) → · · ·

����� ix : Spec (k(x)) → X ��	�
�� 
�� �
	�	��
� �
�� ��� �

�' �� 
��� ��5��	��
���� x �� 
�� ��5��	�� *B��- ��� Spec (OX,x)� ����� �� ��
�
 �� ����
������ ���	��
�
 �� 
 P
�5�� ������
��	 �� K′n�

�� ����� 
� Hp(X,K′n) 
� K��	
	�	�	�� ��	��� 	� X �
��� &���
�	 7�	3��
��� �� 
�� �������	�1

�" 2��!$�� )��9� �
� �	�����	�� 	� "�	�	����	� ?�@ ��� �������� �	� �
� ��������
	� � ������� �	��� �����



K������
 ��

%��� �
�
�
� �
��� �� 
��� ��	3��
��� 
�� ������� (	 �
�
����
� ,�����	 ������
�
 ���	 ��� 
 �������
� ��	� ��

�	�� ���� 
 �	�
� 
��� 
�����
 ���� 
 ���� ��
���
��"�	� ��
� ������
 
� 
 �	�
� ��
 �� �����
� ���	
� */#)� ������� B���0-� %�
Ep,q

2 (X) = Hp(X,K′−q) ����� ��� 
 ����
� �
���
� ���� 
 ����� ���� �� 
 
��� ���
�!��
��� �����


��	 �� Ep,q

2 (X)� ����
• Hp(−,K′−q) �
� 
 ����
��� ������
�1 �� f : X → Y �� 
 P

 �
� �����
����� 
�� 
 	� ��
���� 
��	 f∗ �	����� 
	 ����������� Hp(X,K′−q) ∼=
Hp(Y,K′−q)�

• �� Z �� 
 ������ �����
 �� X �� ���� ������	���	 d� 
��	

0 → · · · → 0 →
∐

x∈Z0

Kn−d(k(x)) →
∐

x∈Z1

Kn−d−1(k(x)) → · · ·

�� 
 ���������� ��∐
x∈X0

Kn (k(x)) →
∐

x∈X1

Kn−1 (k(x)) →


	� 
�� �
�
�� ������� ��∐
x∈(X\Z)0

Kn (k(x)) →
∐

x∈(X\Z)1

Kn−1 (k(x)) →

����� ������ �������	 ������
�1 Hp(X,K′n) = Hp(X\Z,K′n) ��� p = 0, 1, . . . , d−
2 
	� 
���� �� 
	 ��
�
 �������	 ��5��	��1

0 → Hd−1(X,K′n) → Hd−1(X\Z,K′n) → H0(Z,K′n−d) →
→ Hd(X,K′n) → Hd(X\Z,K′n) → H1(Z,K′n−d) → · · ·

�
��� �����

	
 ������
��� �� 4&, ����
�
� ��5��	�� 
�� 
�

 �� X �� 
 �
���
�
���� 
 ���� F � 
��	 E−,−

• (X) �� 
 ����
�
� ��5��	�� ��K•(F )��������� (	 �
�
����
�

�� ��	�

	
� � �����	
� �� K•(F ) � 
�� �	 '��	�� �� ����� ��!���	
�
�� ���� �� 


��� �� ��	�

	
� Ep,q

r (X) = K−p−q(F )� 
��	 
�� ��!���	
�
�� �

�
�	� ���� Ep,q
r (X)


�� 
����
��

������� )��� -1�� ������

(� X = An
F �� 
�� 
 	� ��
��� 
��	 E

p,q
2 (X) ���'� 
� �������1

K0(F (X)) 0 0 · · · 0

K1(F ) 0 0 · · · 0

���
���

���
���

Kn(F ) 0 0 · · · 0

���
���

���
���



�� ����� �	
�����



	� 
�� 4&, ����
�
� ��5��	�� ����	��

�� ���� 
�� E2�
��� �	 � 
�� ��!���	
�
��
�	 
�� En� n ≥ 2� 
�� 
����
��

������� )��� "�	#������ ������

(� X = Pn
F �� 
�� ���3��
��� ��
��� 
��	 ��� 
 �������
	� Z = P

n−1
F 
���� �� 
	

��
�
 �������	 ��5��	��1

0 → H0(Pn
F ,K′−q) → H0(An

F ,K′−q) → H0(Pn−1
F ,K′−q−1) →

→ H1(Pn
F ,K′−q) → H1(An

F ,K′−q) → H1(Pn−1
F ,K′−q−1) → · · ·

����� �	 �
�
 ��1

0 → H0(Pn
F ,K′−q) → K−q(F ) → H0(Pn−1

F ,K′−q−1) →
→ H1(Pn

F ,K′−q) → 0 → H1(Pn−1
F ,K′−q−1) → · · ·

+�������� 
�� ������������ H0(An
F ,K′−q) → H0(Pn−1

F ,K′−q−1) �� �	����� �� 

��!���	
�
�� �� �
 �� 
����
� 
	�

E0,q
2 (Pn

F ) = K−q(F ), Ep,q
2 (Pn

F ) = Ep−1,q−1
2 (Pn−1

F ) ��� p > 0.

4� �	���
��	 �	 n �� ��


Ep,q
2 (Pn

F ) = K−p−q(F ).

��� 4&, ����
�
� ��5��	�� ��� 
 ���3��
��� ��
�� ����	��

�� ���� E2 �	�
����
(	 
�� E2�
��� �� �
��1

E2(Pn
F ) :

K0(F ) 0 · · · 0 0
K1(F ) K0(F ) 0 0
���

���
� � �

���
���

Kn(F ) Kn−1(F ) · · · K1(F ) K0(F )
Kn+1(F ) Kn(F ) · · · K2(F ) K1(F )

���
���

���
���

(
 ������� 
�

 
���� �� 
 �
	�	��
� ����������� �� K•(F )��������

K•(Pn
F ) = K ′•(P

n
F ) = K•(F )n+1

����

���� ��
� 
�� 
��������
� ��
�

��	1 ���� �	 ����� ����
 ����' 
���� �� 
��
��
�� �� E2(Pn−1

F )� ���� F 1K•(Pn
F ) �� 
�� ��
�� �� K•(Pn−1

F )� ����� P
n−1
F ��

�������� �	 Pn
F 
� 
 �������
	�� ��� K0(F )� 

 p = 1, q = −1 �� 
�� ?���
��

������ �	�
 �����	
 �� 
��� ����� �� 
�� ��
��
[
O

P
n−1
F

]
�� 
�� �
���
��
� ���
� �� 


�������
	��

������� )�'� - %�������

G�
 Qd �� 
 d�����	���	
� ���3��
��� 5�
���� ���� F ���	�� �� �5�

��	 qd = 0�
�����

q2k = x0y0 + x1y1 + · · · + xkyk,

q2k+1 = z2 + x0y0 + x1y1 + · · · + xkyk.

7�	����� 
�� �������
	� ���
��	 Zd : yk = 0 
	� �
� ���	 ��������	
 Ud =
Qd\Zd−1� Ud �� 
	 
 	� ��
�� � 
�� ����
��� �� F

[
x0
yk
, y0

yk
, · · · , xk

yk

]
/( q2k

yk
) ��



K������
 ��

F
[

z
yk
, x0

yk
, y0

yk
, · · · , xk

yk

]
/( q2k+1

yk
)� ����� �� 
 ����	���
� ��	� �	 d �
��
����� ��� ���

�����	 ������
� ������

H0(Qd,K′n) = Kn(F ), Hp(Qd,K′n) = Hp−1(Zd−1,K′n−1) ��� p > 0.

Zd−1 �� 
 ���3��
��� ��	� ����Qd−2 ��
� 
�� ���
�� pt = (0 : 0 : · · · : 0 : 1 : 0)� Zd−1

��
� 
�� ���
�� ������� �� 
 ��	��� �� 
 	� ��	�� ���� Qd−2� �� �� 
�� ����
���
������
�

Hp−1(Zd−1\pt,K′n−1) = Hp−1(Qd−2,K′n−1).
%

�
�	� 
�� �	���
��	 ��
� Q0 = pt � pt 
	� Q1 ∼= P1

F �� ��

�	

• ��� ��� d
Ep,q

2 (Qd) = Hp(Qd,K′−q) = K−p−q(F ),

• ��� d = 2k

Ep,q
2 (Qd) = Hp(Qd,K′−q) = K−p−q(F ) ��� p 
= k,

Ek,q
2 (Qd) = Hk(Qd,K′−q) = K−k−q(F ) ⊕K−k−q(F ) ��� p = k


	� 
�� 4&, ����
�
� ��5��	�� ����	��

�� ���� 
�� E2�
��� �	�

(	 �
�
����
�� �� ��� 
�

 ��� i ≤ d�

CHi(Qd) = Z ��� 2i 
= d, CHk(Q2k) = Z ⊕ Z.

2� K• �� �����	� ���	��	��

����� 
�� �����
� ��	�
���
��	� �� K�
����� ��
��� �
��� 
�
	 Q���	�
���
��	�
��'� &����
�&�
���	 G���	�
���
��	 �� &�!�	 K���	�
���
��	 *��� /#;� 7�
�
�� (J0�
���� ������������	
���	
���
�����������������������- (� �	� �
	
� 
� ��

�	
�����
� ��'� K3(Z) ∼= Z/48Z */��0- �� K4(Z) = 0� 
��	 
��� 
��������
� �
���	��� ��
��5������ (� �	� �
	
�K�
����� 
� 
 
��� ��� 
�����
�� �����
�� �� �
���
���� 
��	 �

�� ��
��	
��� 
� ��� 
���� �
��� ������
��� 
� 
����� 
	� ������ �� �����


��	��
%� 
���� ���� �� 	� ����
��� 
����� �	 
�� �������	��

2��� ��6$��� �-��%�� � , ��"2��!�%� :$ ,���� �� ���
�� ���� 
�� �����


��	
���� L8 �� /#)0 �� K�
����� ��	� �� 
 ���3��
��� ��	���� ��� 
�� ��
��	�1 ���
���

��� ����� ��
���� ��� �������
 �����


��	�� ����	��� 
��� �������� 
 ����� ���
�����


��	� �� K�
����� �� �
��� �
���
����
G�
 T �� 
 ������ *	�
 	�����
���� 	��
����
	 �� ���
�

��-� ��
 E �� 
 ���
��

��	��� �� �
	' r ���� T � 
	� ��
 X = P(E) = Proj(SymE) �� 
�����

�� ���3��
���
��	���� ����� SymE �� 
�� �����
��� 
�����
 �� E ���� OT � G�
 OX(1) �� 
��
�
	�	��
� ��	� ��	��� �	 X 
	� f : X → T 
�� �
���
��
� �
��

����� *��� ��� '	� ����� %������	
����� �
��� F 	� OX ��	������ Rqf∗(F) �� �
%������	
����� �
��� 	� OT ��	����� �
��
 �� 8��	 �	� q ≥ r�
���� '	� ��� %������	
����� �
��� F 	� OX��	����� ��� ����	� ������ G 	� T � 	��

��

Rqf∗(F) ⊗OT
G = Rqf∗(F ⊗OX

f∗G).

����� '	� ��� %������	
����� �
��� N 	� OX��	������ 	�� 
��

Rqf∗(OX(n) ⊗OT
N ) =

⎧⎨
⎩

0 �	� q 
= 0, r − 1
SymnE ⊗OT

N �	� q = 0(
Sym−r−nE

) ˇ ⊗OT
N �	� q = r − 1



�� ����� �	
�����


���� �� F �� � �	
����� �
��� 	� OX��	������ ��� T �� �1��� �
�� F �� � %�	�����

	� (OX(−1)⊗n)k
�	� �	�� n, k�

��� �������	� 	�
��	 �� ���
��� 


����
�� 
� +������ */�6� G��
��� �H0-1

��� �!�" *��� - %������	
����� �
��� F 	� OX��	����� 	� X �� m�������� �!

Rif∗(F(m− i)) = 0

�	� ��� i > 0� A0��������B �� ������ A�������B� F �� m�������� �! F(m) �� ��������

+������ ������� 


����
�� 
��� 	�
��	 
	� �
� ������
��� 
� 7
�
��	�����
��� ��	� ��
�
 ��5��	�� �� ������ ������� ��
��� ������ ������

��� 
�� �������

�	� G���
�

����� *��� 0�� 0 → F ′ → F → F ′′ → 0 �� �� �$��� ��%����� 	� %������	
�����
�
����� 	� OX��	������
��� �� F ′(n) ��� F ′′(n) ��� m��������� �	 �� F(n)�
���� �� F(n) ��� F ′(n+ 1) ��� m��������� �	 �� F ′′(n)�
����� �� F(n+ 1) ��� F ′′(n) ��� m��������� ��� �� f∗ (F(n)) → f∗ (F ′′(n)) �� 	��	�
�
�� F ′(n+ 1) �� m���������

����� *�'� �� F �� �������� �
�� F(n) �� ������� �	� ��� n ≥ 0�

"�		�� F��� 
�� �
	�	��
� ����������� f∗E → OX(1) �	� ��
� 
	 �����������

*2��- OX(−1) ⊗OX
f∗ (E) → OX


	� ���"�� ������
��	�

0 → OX(−r) ⊗OX
f∗
(

r∧
E
)

→ · · · → OX(−1) ⊗OX
f∗ (E) → OX → 0,*2�#-

0 → F(−r) ⊗OX
f∗
(

r∧
E
)

→ · · · → F(−1) ⊗OX
f∗ (E) → F → 0.*2�)-

>�����	� F 
� �� �����
�� �	� ���� 
�



(
F(−p) ⊗OX f∗

(
p∧
E
))

(p) �� �����
��

(� *2�)- �� ����
 �	
� ����
 ��
�
 ��5��	���

0 → Zp → F(−p) ⊗OX
f∗
(

p∧
E
)

→ Zp−1 → 0,


��	 �� �����
��	� �	���
��	 �	 p �� ��

�	 
�

 
�� ���
� Zp(p+1) �� 
��� �����
��
���� 
�� �����
��
� �� F ������� 
�

 Z0(1) = F(1) �� �����
��

����� *�(� �� F �� �������� �
�� �
� ���	����� ��� f∗f∗ (F) → F �� ���#�������

"�		�� >� 
���� 
���� �� 
	 ��
�
 ��5��	��

0 → Z1 → F(−1) ⊗OX
f∗ (E) → F → 0

��
� �����
� Z1(2)� ���� R1f∗ (Z1(n)) = 0 ��� n ≥ 1� �� 
�� �
	�	��
� �
�
f∗ (F(n− 1)) ⊗OT

E → f∗ (F(n)) �� ���3��
��� ��� n ≥ 1� :�	�� 
�� �
	�	��
� �
�
�� SymE��������

f∗ (F) ⊗OT
SymE →

∐
n≥0

f∗ (F(n))

�� ���3��
���� ��� G���
 ������� �� 

'�	� 
�� 
�����

�� ���
����



K������
 ��

O�� �� ��
�� �������� 
 ��������� ��������� ����� ����� 
�� �
	�	��
� ������
��	
�� 
 �����
� ���
�� ���� ��������� �� 
�� '�� ���	
 ���� 
	� �	 �
��� �����


��	�
������ 4�
 ���
 ������� 
�

 
 ������	
 ���
� F �� OX �������� 
���
� 
 ������
��	

0 → f∗ (Tr−1) (1 − r) → · · · → f∗ (T0) → F → 0

����� Ti 
�� ������	
 ���
��� �� OT ��������� ���	 F �
� 
� �� �����
�� +��������

�� 
���� ��
�
 ��5��	�� �
	 �� ������ 
� 
 ������
��	 �� 
�� "��� ���
� �� 
������
��3��
� ��� 
�� δ���	�
�� F �−→ Rqf∗(F(n))� ����� n �� 
	� ���� 	�		��

���
�	
����� >�����	� f∗ �� ��
 
	 ��
�
 ��5��	��

0 → Symn−r+1E ⊗OT
Tr−1 → · · · → SymnE ⊗OT

f∗ (F) → 0

��� n ≥ 0� (	 �
�
����
�� �� �
�� 
�� ��
�
 ��5��	���1

0 → Tn → E ⊗OT
Tn−1 → · · · → f∗ (F (n)) → 0

��� n = 0, 1, . . . , r−1 ����� �
	 �� ���� 
� ���� 
�

 
�� ���
��� Tn 
�� ��
����	��
�� F �� 
� �
	�	��
� �������������
���$���%� �" �!�$�!�" "4 � �� " ���� ���"�$!�" =
7�	�������� ����	 
 ������	
 ���
� F �� OX ��������� �� �	���
����� ���	� 
 ���

5��	�� �� ������	
 ���
��� �� OX �������� Zn = Zn(F) 
	� 
 ��5��	�� �� ������	

���
��� �� OT �������� Tn = Tn(F) 
� �������� %

�
�	� ��
� Z−1 = F � ��


Tn = f∗ (Zn−1(n)) ,*2�H-

Zn = ker (f∗(Tn)(−n) → Zn−1) .

Zn 
	� Tn 
�� 
���
��� ��	�
��� �� F �
>����� 	�� 
�

 F �� �����
�� �� ��� �� �	���
��	 
�

 Zn(n + 1) �� �����
��

���� �� ���
� ��� n = −1� ��� ��
�
 ��5��	���

*2�B- 0 → Zn(n) → f∗(Tn) → Zn−1(n) → 0


���� �	� 
� ������
� 
�� �	���
��	� (	 
���
��	 �� �
��

*2�2- f∗ (Zn(n)) = 0 ��� n ≥ 0

���
��� 
�� ��	�
�� f∗ �
�� f∗(Tn) → Zn−1(n) �	
� 
	 ������������ ��� ��	�
��
f∗ �� ��
�
 �	 
�� �

����� �� �����
� ������	
 ���
��� �� OX ��������� �� F �−→
Tn(F) �� 
	 ��
�
 ��	�
���

������� *��� "�	#������ �����

G�
 F �� 
 ����� T = SpecF � X = Pm
F � ��� ���
� F = OX(1) �� �����
��

T0 = f∗ (F) = H0 (X,OX(1))

�� 
 ���
�� ��
�� �� ����	���	 m+ 1� E�
�
 ��5��	�� *2�B- ��� n = 0

0 → Z0 → Om+1
X → OX(1) → 0

���	�� Z0D ��� 
�� 	��
 �
�� �� 
���
 
��� ��5��	�� �� 11

0 → Z0(1) → OX(1)m+1 → OX(2) → 0


� ��

�	 
�

 dimH0 (X,Z0(1)) = (m+ 1)
(

m+1
1

)
−
(

m+2
2

)
=
(

m+1
2

)
� ����

T1 = f∗ (Z0(1)) = H0 (X,Z0(1)) = F

(
m+1

2

)
.

E�
�
 ��5��	�� *2�B- ��� n = 1 ��

0 → Z1(1) → O
(

m+1
2

)
X → Z0(1) → 0.



�� ����� �	
�����


F�� ��	��	��	�� �� ���� �
 ��
� 
�� ��
�
 ��5��	�� ��� n = 0 
���
�� �� 11

0 → Z1(1) → O
(

m+1
2

)
X → OX(1)m+1 → OX(2) → 0.

���� 	��
 
���
 �� 1

0 → Z1(2) → OX(1)
(

m+1
2

)
→ OX(2)m+1 → OX(3) → 0,

������

dimH0 (X,Z0(2)) =
(

m+1
2

)
(m+ 1) − (m+ 1)

(
m+2

2

)
+
(

m+3
3

)
=
(

m+1
3

)
,

T2 = f∗ (Z1(2)) = H0 (X,Z1(2)) = F

(
m+1

3

)
,

�� 
�� 	��
 �
�� ��

0 → Z2(2) → O
(

m+1
3

)
X → OX(1)

(
m+1

2

)
→ OX(2)m+1 → OX(3) → 0.

��� �	
� �����
 �� Zm = 0 
	�

0 → OX → OX(1)(
m+1

m ) → · · ·

· · · → OX(m− 1)
(

m+1
2

)
→ OX(m)m+1 → OX(m+ 1) → 0.

Q	
���
�	� ������ 
�� ������
��	 �� OX(1)1

0 → OX(−m) → OX(1 −m)(
m+1

m ) → · · ·

· · · → OX(−1)
(

m+1
2

)
→ OX

(
m+1

1

)
→ OX(1) → 0.

>������	� 
� ?������
��	 #�2 
����� K0 (X) �� 
 ���� 
����
	 ����� ��
� 
 �
���
1 = [OX ]� ξ = [OX(−1)] , ξ2, . . . , ξm−1, ξm� :��� �� �
�� 
	 ���	
�
�

ξ−1 =
(

m+1
1

)
+
(

m+1
2

)
(−ξ) + · · · + ( m+1

m ) (−ξ)m−1 + (−ξ)m

����� ������ 
�� ��	� �
���
���1

K0 (X) = Z [ξ] /
(
(1 − ξ)m+1

)
.

&��	� �
�' 
� 
�� ��	��
� �
�� �� ��� 
�

 
�� '�� ���	
 �� 
�

 
�� ���������
������� ��������� 
���� 
����	

��� ���� 
�

 Zr−1 = 0� F��� 2�B �� ��
 
	 ��
�

��5��	��

Rq−1f∗ (Zn+q−1(n)) → Rqf∗ (Zn+q(n)) → Rqf∗ (f∗ (Tn+q) (−q))
����� 
����� �	� 
� ����� �� �	���
��	 �	 q� �

�
�	� ���� 2�2� 
�

Rqf∗ (Zn+q(n)) =
0 ��� q, n ≥ 0� ���� ����� 
�

 Zr−1(r − 1) �� �����
�� ��	�� Rqf∗ �� "��� ��� q ≥ r�
���� f∗ (Zr−1(r − 1)) = 0 
	� Zr−1(r − 1) �� G���
 2�H�
�� �
�� ������ 
�� �������	��

&�"�"��!�" *�)� -�� ������� �	
����� �
��� 	� OX��	����� F 
�� �
� ���	�����
���	����	� 	� �
� �	��

*2�6- 0 → f∗ (Tr−1 (F)) (1 − r) → · · · → f∗ (T1 (F)) (1) → f∗ (T1 (F)) → F → 0

�
��� �
� Ti (F) ��� �	
����� �
����� 	� OT ��	����� ���������� �� �	 � ���%��
��	�	��
��� �� F � =	��	��� F �−→ Ti (F) �� �� �$��� �����	� ��	� �
� �����	��
	� ������� �	
����� �
����� 	� OX��	����� �	 �
� �����	�� 	� �	
����� �
����� 	�
OT ��	������

�� �


� 	�� 
���� ����
��



K������
 ��

����� *�*� -����� T �� %������	������ �
�� �	� ��� ����	� ������ F 	� X
�
��� �$���� �� ������� n0 ���
 �
�� �	� ��� �	
����� �
����� N 	� OT ��	������ 	��

��
��� Rqf∗ (F(n) ⊗OX

f∗(N )) = 0 �	� q > 0�
��� f∗ (F(n)) ⊗OT

N ∼−→ f∗ (F(n) ⊗OX
f∗(N ))�

��� f∗ (F(n)) �� � ����	� ������ 	� T �

"�		�� /#)� L8� G���
 ���#0�

����� *�+� �� F �� � ����	� ������ 	� X ���
 �
�� Rqf∗ (F(n)) = 0 �	� q > 0
��� n ≥ 0� �
�� f∗ (F(n)) �� � ����	� ������ 	� T �	� ��� n ≥ 0�

"�		�� /#)� L8� G���
 ���)0�

����� *�7� �� F �� � ������� ����	� ������ 	� X� �
�� Ti (F) �� � ����	� ������
	� T �	� ���
 i�

"�		�� /#)� L8� G���
 ���H0�

O�� �� �
	 ����� �
�	 �����
 �� 
��� ���
��	 *������� #�� �� /#)� L80 -�


-�"��� *�8� 0�� E �� � ����	� ������ 	� ���
 r 	��� � ��
��� T ��� X = P (E)
�
� ���	������ ��	#������ ������� �� T �� %������	������ �
�� 	�� 
�� ��	�	��
����

(Kq(T ))r ∼−→ Kq(X), (a0, a1, . . . , ar−1) �−→
r−1∑
i=0

ti · f∗ai

�
��� t ∈ K0(X) �� �
� ����� 	� �
� ���	����� ���� ������ OX(−1)� ��	���� · �� �
�
������������	� K0(X)⊗Kq(X) → Kq(X) ������ �� *$����� ;�/+� ��� f : X → T
�� �
� ���������� ����

"�		�� G�
 Pn = Pn(X) ��	�
� 
�� ���� ����

����� �� P(X) ��	���
�	� �� ���
��
��	���� F ���� 
�

 Rqf∗(F(k)) = 0 ��� q 
= 0 
	� k ≥ n� G�
 Rn = Rn(X) ��	�
�

�� ���� ����

����� �� P(X) ��	���
�	� �� n������
� ���
�� ��	����� E
�� �� 
���
����

������� �� ������ �	��� ��
�	���	�� �� �
� K������� 
�� ���	���
�� ����� 
�

 �	������	� �	���� ������������Kq(Rn) ∼= Kq(Pn) ∼= Kq(P(X)) =

Kq(X)� �� ��� 
��� ��
	�� 
�� ��
�
 ��5��	�� *2�#- �	
�

0 → OX → (f∗(E)) (1) → · · · →
(
f∗
(

r∧
E
))

(r) → 0


	� 
�	��� �
 �� F 1

0 → F → f∗(E) ⊗OX
F(1) → · · · → f∗

(
r∧
E
)

⊗OX
F(r) → 0.

F�� �
�� p > 0� F �−→ F(p) ⊗OX f∗
(

p∧
E
)
�� 
	 ��
�
 ��	�
�� ���� Pn 
� Pn−1�

��	�� �
 �	����� 
 ������������ up : Kp (Pn) → Kp (Pn−1)� (
 �� ���
�� 
�

∑
p>0

(−1)p−1up �� 
	 �	����� 
� 
�� �
� �	����� �� 
�� �	������	 Pn−1 → Pn� ����

�� �
�� Kp (Pn−1)
∼→ Kp (Pn) ��� 
�� n� 4� G���
 2�2 *
-� P(X) �� 
�� �	��	 ��


�� Pn.�� �� Kp (Pn) ∼= Kp(P(X)) ��� 
�� n� ��� ����� 
�

 Kp (Rn) ∼= Kp(P(X))
�� �����
��



�� ����� �	
�����


?�
 Un(N ) = (f∗(N )) (−n) ���N ∈ P(T )� F�� 0 ≤ n < r� Un �� 
	 ��
�
 ��	�
��
���� P(T ) 
� P0� ��	�� �
 �	����� 
 ������������ un : Kp(P(T )) → Kp(P0)� ��
����� 
�� 
������ �
 �� ��� 
� ���� 
�

 
�� ������������

u : Kp(P(T ))r → Kp(P0), u (a0, a1, . . . , ar−1) =
r−1∑
n=0

un(an),

�� 
	 ������������
F��� G���
 2�6 �� '	�� 
�

 Vn(F) = f∗ (F(n)) �� 
	 ��
�
 ��	�
�� ���� P0


� P(T ) ��� n ≥ 0� ��	�� �� �
�� 
 ������������

v : Kp(P0) → Kp(P(T ))r, v(x) = (v0(x), v1(x), . . . , vr−1(x)) ,

����� vn �� 
 ������������ �	����� �� Vn� %�	��

Vn ◦ Um(N ) = f∗ ((f∗(N )) (n−m)) = Symn−m (E) ⊗OT
N ,

�
 ������� 
�

 
�� �������
��	 vu �� ��������� �� 
 
��
	���
� �

��� ��
� 1.� �	

�� ��
��	
�� ��������� vu �� 
	 ������������ �� u �� �	3��
����
�	 
�� �
��� �
	�� Tn �� 
	 ��
�
 ��	�
�� ���� R0 
� P(T )� ��	�� �� �
�� 


������������

t : Kp(R0) → Kp(P(T ))r, t(x) =
(
t0(x),−t1(x), . . . , (−1)r−1tr−1(x)

)
,

����� tn �� �	����� �� Tn� ��� �������
��	 ut �� 
�� �
� Kp(R0) → Kp(P0)
�	����� �� 
�� �	������	 R0 → P0� %�	�� ut �� 
	 ����������� u �� ���3��
����
���� ��	������ 
�� ������

2�#� ���$��	��%��� %����!���� (� 
 �
���
� X �� �	 ���� ��	�� �����
� 
� 
 ����
3��
��� ��
��� 
��	 K�
����� �� X ��!��� �����
�� ���� 
�� K�
����� �� ���3��
���
��
��� �� ���� �����
��
��� 
	� ��!���	��� �� ������� 4�
����%����� �
���
��� 
	�
5�
���� ���������
����
4�
����%����� �
���
� �� 
 
���
�� ���� �� 
 ���3��
��� ��
��� G�
 k �� 
 ����


	� ��
 k �� �
� 
�����
�� ��������

��� �!�" *��� - k�������� P �� � 4�
����%����� �
���
� 	��� k �� Pk
∼= P

r−1
k

�

*��� /�0�- F�� ��
���� 
 ��	�� �� 
 4�
����%����� �
���
� *E�
���� 6�� ������-
%� 
 4�
����%����� �
���
� �� �����
� 
� 
 ���3��
��� ��
���
4�
����%����� �
���
��� ���� 
 ���� ���� k 
�� ��
������ �� ��	
�
� ������ k�


�����
�� %�	�� 
��� ��		��
��	 
�����
���
���
��� �� �����
	
� �� ���� ���� ����
��

����
C��
�� 
�

 
 k�
�����
 A �� ������� �! k �� �
� ��	
��D �
 �� ������ �! �
 �
� 	�

������ 
�������� ���
��� 4� ���������	 ������� */#H� 7�
�
�� 8� ������� ��B0-
����� ��	
�
� ������ k�
�����
 �� 
 �

��� 
�����
 ���� 
 �������	 ��	�� ����� ��
��	
�
� ���� k� (	 �
�
����
� ����� ��	
�
� ������ k�
�����
 �� 
 �

��� 
�����
�
&���	 
 ��	
�
� ������ 
�����
 A �� �
	' r2 ���� 
 ���� k� 
 4�
����%����� �
���
�

���� k �
� �� ���	�� �����
�� 
� �������� F�� 
 ���� ��
�	���	 k ⊂ K ��
 PK ��

�� ��
 �� 
�� ���
 ���
�� L �� A⊗k K �� ����	���	 r� G�
 P �� 
�� k��
���
� �����
��
 �� K����	
� �� PK ��� ����� K� (
 �� ���
� 
�

 P ��������� 
�� �
���
��� �� 
	

�����
�� �
���
� ���� k� (	����� ���'�	� 
 ���� �
��� ��� A ���� k� �	� ������ P

� 
 ������ ����
���
� �� 
 &�
���
		�
	 Gr(r, r2) �� r���
��� �	 A ⊗k K� ���	��
�� 
�� ���

��	� �


�	� 
�

 �
�� L �� 
 ���
 ���
� �� A�
(� A �� 
 �������	 ��	�� 
��	 P �� 
 �
���
� ��
���
 �

��	
� ���	
��



K������
 ��

(� A = Mr(k) �� 
 �

��� 
�����
 
	� ei = eii 
�� 
�� ���
� ������
�	
� *eij

�� 
 �

��� ����� ��!��� ���� "��� �

��� �� ��
�
�� �	� 1 

 ��
�� i, j-� 
��	
�
�� ���
 ���
� L �
� �� ���������� 
� L = e1L ⊕ · · · ⊕ erL� ���	 ������ 
� 

k�������� +

����� �	 eiL ��!�� ���� "��� �

��� �� i�
� ���� %�	�� ejieiL = ejL�
dimk eiL = 1 ��� �
�� 1 ≤ i ≤ r� ���� 
�� i����� �� �

����� �	 eiL ���� 
 ��	�
�	 kr� 
	� ��� i = 1, 2, . . . , r 
��� �� 
�� �
�� ��	� � 
�� �����	 ��
�� kr · x �� 
��
	�	"��� x ∈ L� 7����� x 
= 0 �	 e1LD 
��	 x �
� �� ���

�	 
� x =

∑
aje1j ���

���� (a1, ..., ar) ∈ kr� ����� 

 ��
�
 �	� ai 
= 0� F�� 
	�
��� ������ �� x� �� �
��
x′ = λx� (
 ������� 
�

 �
�� ���
 ���
� L �� A ��������	�� 
� 
 ���	
 (a1 : . . . : ar)
�� P

r−1
k � ����� �� 
�� �����	 ��
�� �� �
	' 1 �

����� �	 L� �	 
�� �
��� �
	��

���' (a1 : . . . : ar) �	 P
r−1
k 
	� ��
 l =

∑
aje1j � ���	 �� 
�����

� 
� �
 
�� ���


���
� L �
 ��	��

�� �	Mr(k)� ����� �� L = kl+ke21l+ ...+ker1l� ���� 
�� 4�
���
%�������
���
� 
�����

�� 
� Mr(k) �� 3��
 
 ���3��
��� (r − 1)���
�� ���� k� (	
�
�
����
�� 
 4�
����%����� �
���
� ���� 
	 
�����
��
��� ������ ���� �� 
 ���3��
���
��
��� 
	� 
 4�
����%����� �
���
� ���� 
 ���� k ������� ���������� 
� 
 ���3��
���
��
�� ���� k�
4�
����%����� �
���
��� �
� 
��� �� ���	�� �� �����	
� 4� �����	
 
������ ��

G = Gal(k/k)� 
��	 
�� ���	
�� ��
 �� ����������� ��
���� �� k��
���
��� P ��
�

�� ������
� 
�

 Pk

∼= P
r−1

k
�� ���������� 
� H1(G,PGLr)� ���
��� AutP =

PGLr� �	 
�� �
��� �
	�� �
�� k�
�
��������� ��Mr(k) �� �		�� *O��
����%'����
�������� /#H� 7�
�
�� 8� ������� H�#0-� AutMr(k) = PGLr(k)� O��� ��
 A �� 

��	
�
� ������ k�
�����
 
	� k 
�� 
�����
�� ������� �� k� ���	 A ⊗k k = Mr(k)�
%� �� �����	
 
����� 
�� ���	
�� ��
 �� ����������� ��
���� �� ��	
�
� ������ k�

�����
� �� �
	' r2 �� ���������� 
� H1(G,PGLr)� 
��� �� 
�����

� 
� 
 k��
���
�
P 
� 
���� 
�� ��	
�
� ������ 
�����
 A �� 
�� �
�� ��
�� �	 H1(G,PGLr)� (� �	�
���'� 

 
�� �������
 
�
��	 �� PGLr �	 Pr−1 
	� 
�� �
���
� �� ���
 ���
�� �� �
	'
r �� Mr� 
��	 �
 �� �
�� 
� ��� 
�

 ��
� ��	�
���
��	� ����� 
�� �
�� �����
�

������� *��� (	��� ��� %�������	� ��������

G�
 r = 2� ���	 
���� ����
� 
 5�
��

�� ��
�	���	 F = k (
√
a) �� k ���� 
�



PF
∼= P1

F 
	� A ⊗k F ∼= M2(F )� �	� �
� ����' �������
��� 
�

 �� P 
	� A 
��
���	�� �� 
�� �
�� �������� 
��	 
���� ����
� b ∈ k∗ ���� 
�

 A �
� 
 �
��� 1, i, j, k
���� 
�



i2 = a, j2 = b, ij = −ji = k.

%��� A �� 
�� %�������	� �������
(

a,b
k

)
D 
���� 
�� ��
������ �� 
� ����������� ��

����������� ��
���� �� 5�
��

�� ���� *
���� ������� 	��� � ��� 
�� �	
� ���
��	
����� ��� 
 ���	�
��	-

*2�8- Nrd(x+yi+zj+tk) = (x+yi+zj+tk)(x−yi−zj−tk) = x2−ay2−bz2+abz2.

���� �� 
 ���� �����
� 5�
��

�� ���� *
������� ?��
�� ����-� �
� ����������� ��
��
�� �	�5���� ���	�� �� ����������� ��
�� �� �
� �������

Nrd(yi + zj + tk) = − (yi+ zj + tk)2 = −ay2 − bz2 + abz2

*�	 
�� 5�
��

�� ���� 
����� �
 �� �
���� 
 ���� ����	�� 	� *2�8-D 
 5�

��	��	 ��

�� ���� yi + zj + tk �� �
���� 
 ���� %�������	��- �� ���� 
�

 4�
����%�����
�
���
� P �� 
�� ���3��
��� ��	�� ���	�� �� 
�� �5�

��	 ay2 + bz2 − abz2 = 0� >
���
 ���
� L �� �� 
�� ���� Aα ��� α ∈ AD �� N (α) 
= 0� 
��	 α �� �	���
����� ��



�� ����� �	
�����


N (α) = 0 ��� dimL = 2D �� α = x+ yi+ zj + tk 
	� x 
= 0 
	�� �
�� x2 − ay2 
= 0�

��	 x− yi �� �	���
���� 
	�

L = Ai (x− yi) (x+ yi+ zj + tk) = Ai
(
x2 − ay2 + (xz − byt) j + (xt− yz)k

)
= A

((
x2 − ay2

)
i+ a (xt− yz) j + (xz − byt) k + (xt− yz)k

)
= A (y′i+ z′j + t′k) .

�	� �
���� ����'� 
�

 A (y′i+ z′j + t′k) = A (y′′i+ z′′j + t′′k) �! (y′ : z′ : t′) =
(y′′ : z′′ : t′′)
����� 
�� ���

��� ������	� �� 	�
��	� 
����� F�� 
 ������ T �� �	
������ 
��

�������	� ���	�
��	�1

• > ���
� A �� OT �
�����
� �� �
	' r
2 ���� T �� 
	 -8����� ������� �! A ��

���
��� ���������� 
� 
�� ���
� Mr (OT ) ��
� ������
 
� I

�� 
�������
*��� /8� LB0�-

• > T ������� f : X → T �� 
 3������ ����� ��
��� �� ���

��� ����	���	
r − 1 �! �
 �� ���
��� ���������� 
� 
�� ���3��
��� ��
�� P

r−1
T ��
� ������



� I

�� 
������� �	 T �

*��� ��� ��
�� L8�-
4� �����	
� 
�� ��		��
��	 ��
���	 ��	
�
� ������ 
�����
� 
	� 4�
����%�����

�
���
��� ���
�	� �
��� ��� >"��
�
 
�����
� 
	� 4�
����%����� ������� � ��� ��

���
��� /8� L80� +�������� ,�����	 */#)� L8�H0- �
� ��	��
��"�� 
�� ?��3��
��� 4�	���
������� 2�; 
� 
��� ��
�

��	�
%� ��
 f : X → T �� 
 4�
����%����� ������ �� ���

��� ����	���	 r − 1 ������

���	��	� 
� 
�� >"��
�
 
�����
 A ���� T �
(� 
���� ����
� 
 ��	� ��	��� L �	 X ����� ���
���
� 
� O(−1) �	 �
�� �����
���

����� 
��	 �	� �
� X = P (E)� ����� E �� 
�� ���
�� ��	��� f∗Lˇ �	 T � (	 ��	��
�
���� 
 ��	� ��	��� L ����
� �	�� ���
��� ��� 
�� I

�� 
������� �	 X � :�������
�� ��
�� 	�� ���� 
�

 
���� �� 
 �
	�	��
� ���
�� ��	��� �� �
	' r �	 X �����
���
���
� 
� O(−1)r �	 �
�� �����
��� �����
G�
 
�� ����� ������ GL(r, T ) 
�
 �	 Or

T �	 
�� �

	�
�� �
�� 
	� ��
 Y =
P

r−1
T = P (Or

T )� ��� �	����� 
�
��	 �	 Y �
�
��� 
������ 
�� ���3��
��� �����
PGL(r, T ) = GL(r, T )/Gm,T � %�	�� 
�� ���
�����

��� ����� Gm,T 
�
� 
����
���
�	 
�� ���
�� ��	��� OY (−1)⊗OY

g∗(Or
T )� ����� g : Y → T �� 
�� �
���
��
� �
��


�� ����� PGL(r, T ) ����

�� �	 
��� ���
�� ��	��� ����

���� ��
� �
� 
�
��	
�	 Y � >� X �� ���
��� ���������� 
� Y ��
� ������
 
� 
�� I

�� 
������� �	
T 
	� PGL(r, T ) �� 
�� ����� �� 
�
����������� �� Y ���� T � �	� '	��� 
�


X �� 
�� ��	��� ���� T ��
� ���� Y 
�����

�� 
� 
 
����� A �	��� PGL(r, T )
���
��� 
����
� ��� 
�� I

�� 
�������� ���� �� 
 �
�
������ P

 �����	
� 
�� ��	���
OY (−1) ⊗OY g∗(Or

T ) �	 Y ����� ���� 
� 
 ���
�� ��	��� J �	 X �� �
	' r�
(
 �� ���
� 
�

 
�� ��	�
���
��	 �� J �� ����

���� ��
� 
�� �
�� ��
	��� 
	�


�

 J = OX(−1) ⊗OX
f∗(E) �� X = PE � (	 
�� ��	��
� �
��� 
���� �� 
 �
�
���
	

�5�
��

X ′

f ′

��

h′
�� X

f

��
T ′

h
�� T



K������
 ��

����� h �� �
�
������ P

 *���� 
	 I

�� ���3��
��� �
� ���� ����� A ������� 
����
�-
���� 
�

 X ′ = P (E) ��� ���� ���
�� ��	��� E �� �
	' r �	 T ′� 
	� ���
���

h′∗(J ) = OX′(−1) ⊗OX′ f
′∗ (E) .

G�
 A �� 
�� ���
� �� *	�	������


���- OT �
�����
� ����	 ��

A = f∗ (EndOX
(J ))op

����� .��. ��	�
�� 
�� ������� ��	� �
���
���� >� h �� P

� �� �
�� h∗f∗ = f ′∗h′∗�
:�	��

h∗(A)op = h∗f∗ (EndOX
(J )) = f ′∗h

′∗ (EndOX
(J ))

= f ′∗
(
EndOX

(
OX′(−1) ⊗OX′ f

′∗ (E)
))

= f ′∗f
′∗ (EndOT ′ (E)

)
= EndOT ′ (E) .

���� A �� 
	 >"��
�
 
�����
 �� �
	' r2 ���� T � +������� �	� �
�

f∗A = EndOX
(J )op


� �	� ������� �� �����	� �
�' ��
� ����� 
� X ′�
G�
 Jn *����� An- �� 
�� n����� 
�	��� ������
 �� J �	 X *����� A �	 T -� ��


�

 An �� 
	 >"��
�
 
�����
 �� �
	' (rn)2 ���� 
�



An = f∗ (EndOX
(Jn))op , f∗An = EndOX

(Jn)op .

G�
 P(T,An) �� 
�� �

����� �� ���
�� ��	���� �	 T ����� 
�� ���
 ������� ���
An� %�	�� Jn �� 
 ����
 f

∗ (An)�������� ����� ���
��� �	 X �� 
 �����
 ����
	�
�� f∗ (An)� �� �
�� 
	 ��
�
 ��	�
��

Jn ⊗An − : P(T,An) → P(X), M �−→ Jn ⊗f∗(An) f
∗ (M)


	� ��	�� 
	 �	����� �
� �� K��������


-�"��� *��9� �� T �� %�����	������ 	�� 
�� ��	�	��
���� ��	� ��� i�.

r−1∐
n=0

Ki (An) ∼−→ Ki(X), (x0, x1, . . . , xr−1) �−→
r−1∑
n=0

(Jn ⊗An −)∗ (xn).

���� �� 
�
�
��� 
 ��	��
��"

��	 �� 2�; ���
��� �� 
�� >"��
�
 
�����
� A, B
�������	
 
�� �
�� �����	
 �� 
�� 4�
��� ����� �� T � 
��	 
�� �

������� P(T,A)

	� P(T,B) 
�� �5���
��	
 *+���

 �5���
��	��-� 
	� ��	�� �
�� ���������� K�
������� ���� Ki (P(T,An)) = Ki(T ) ��� 
�� n �� X �� 
�� ���3��
���"

��	 �� ����
���
�� ��	����
> ����� �� 2��< �� 
 ������

��	 �� 
�� ����� �� 2�;� �	� �
��� 
 ���
� F ��

OX �������� 
� �� 
 �����
� ���
� �� �
� �	����� ��
�� �	 X
′ = P (E) �� �����
�� F��


 �����
� F �	� ��	�
���
� 
 ��5��	��

*2�;- 0 → Jr−1 ⊗Ar−1 Tr−1 (F) → · · · → OX ⊗OX
f∗ (T0 (F)) → F → 0

����������� ��

Tn (F) = f∗ (HomOX
(Jn,Zn−1 (F))) ,

Zn (F) = ker (Jn ⊗An Tn (F) → Zn−1 (F))

�

�
�	� ��
� Z−1 (F) = F � (
 �� �
�� 
� ��� 
�

 
��� ��5��	��� ���	 ���
�� 
� X ′�
���	����� ��
� 
�� �
	�	��
� ������
��	 *2�6- �� �	����� ��
�� �� F �	 X ′� %�	�� X ′
�� �
�
������ P

 ���� X � *2�;- �� 
 ������
��	 �� F �



�� ����� �	
�����


�� 	�
� 
��� 
�

 
���� �� 
 �
	�	��
� ����������� J � OX ��

�	�� �� ���
���	��	� *2��-� 
	� ��	�� 
 ���"�� �������

0 →
r∧
J → · · · → J → OX → 0

�� 
	 ��
�
 ��5��	�� �� ���
�� ��	���� �	 X � ��������	��	� 
� *2�#-� ��������� �

�� ���
� 
�

 
�� �� 
�� 
���� ���� �	 
�� ����� �� ?��3��
��� 4�	��� ������� 
��

�
��
��� �	 
�� ��
�

��	 �	��� ��	�����

��	�
���� �����
 �
� ���� 
� �����
� K����������� �� 4�
����%����� �
���
� �	 /�H0�

��� ���� �� ��
�
��	� �� 4�
����%����� �
���
� �� 
 ��	���� ����

�	� ���� ��� 
����
��

�� ��	
�
� ������ 
�����
� 
	� K����������� �����


��	 �
� ���� 
� �����

�

 ��� 
���
�
�� ���� F 
	� 	

��
� 	����� n ����� 
� ��
�
�
����
�� �� F � 
����
�� 
 	

��
� ����������� K2(F )/nK2(F ) ∼= H2(F, μ⊗2

n )� �� ���� ����� �	 6�# 

�
�
����
� �
�� �� 
�� '�� 
�����	
 ��
��	� 
��� �����
� 
� ������
 
�� P
���� ��

�

 '�	� �� 
�����

��	� �� 
�� 
������

2�)� 5$�,��� -/����$�4����� �� ���� ���� 
 ��������� 
����	
 �� C���
�� %�
	
�
��� /#60� ��� ��
�� �� /#60 �� ���� ��	��
�1 5�
���� �� ���	�� ���� 
 ��	� R �
��� 
 �	�
��� ��	��

�� ���3��
��� R������� M ��
� 	�	��	���
� 5�
��

�� ����
q : M → R 
�� 5�
���� X(q) �� ?��3(Sym(M∗)) /(q) *���� M∗ = HomR(M,R)�-
��� �
�	 ������� ;�� ��������� K�
����� �� 
�� �

����� P(X(q),Λ) �� ���
��
��	���� �	 X(q) ��
� ���
 
�
��	 �� 
 ��	��
��"�� >"��
�
 
�����
 Λ� ��
� ���� 

��	��
� �����
 �
 �� �������� 
� �����
� 
�� K�
����� �� ������
� �� 
 	� 5�
������
�� ��	
�	
 ��������� ��
� 
�� K�
����� �� P(X(q)) �� ����
� 5�
���� ������

����
�� X(q) ���� 
 ���� F ��
� ��
�
�
����
�� ��!���	
 ���� 2�
G�
 �� ��
��	� �	� �� 
�� '�� �	������	
� � 
�� ��
����
� 	�
��	 �� 7��!��� 
�����


�� 
 5�
��

�� �����

2�)��� (��!	�� ��������� ��� �

	�
�� ������	�� �� /)0� /H� 7�
�
�� (( L60 ��	

�	�

�� ��

��� �� 	���� > ���� ����	
 ������ �� /#H� 7�
�
�� 80�
G�
 V �� 
 ���
�� ��
�� ���� 
 ���� F 
	� ��
 q : V → F �� 
 5�
��

�� �����

��� 7��!��� 
�����
 C(q) �� 
 �	�����
� ��3��
 ��� 5�
��

�� 
�����
� �� (V, q)� ����
F �
�����
� ��	

�	�	� V 
� 
 �����
�� ��
� 
�� ������
�

v2 = q(v) ��� v ∈ V.

���� �� T (V ) =
∞∐

n=0
V ⊗n �� 
�� 
�	��� 
�����
 �� V ��
� 	

��
� ��
��	�� I �� 
��


�������� ���
� �� T (V ) ��	��

�� �� 
�� ���������	� v ⊗ v − q(v) ��� v ∈ V �

��� �!�" *�'� �
� 7��!��� 
�����
 C(q) 	� (V, q) ��

C(q) = T (V )/I.

�� T0(V ) =
∞∐

n=0
V ⊗2n �� �
� ���� ���� 	� T (V )� �
�� �
� ���� (��!	�� ������� C0(q)

	� (V, q) ��
C0(q) = T0(V )/I.

C0(q) �� 
 ���
�����
 �� C(q) 
	� C(q) �� 
 �����
 ��� �� 
�� C0(q)��������

C(q) = C0(q) ⊕ C1(q)

�
�� �� �
	' 1D 
��� ���������
��	 ���	�� 
 Z2���
��	� �	 C(q)�



K������
 ��

(
 �� ���
� 
�

 ������
 �� ���
��� ��
� ���� 
�

 dim V �
�
��� �
� �� ���

�	 
�

 ����
�� ������
� �� �� v1, v2, . . . vn �� 
 �
�� �� V � 
��	 ��
 �� 
�� ������� ������
�
�� ���
�	�
 vi ���� 
 �
�� �� C(q)D �	 �
�
����
� dimC(q) = 2dim V �

������� *�'� �� q = 0 �� � 8��	 �	��� �
�� C(q) �� �
� �$����	� ������� 	� V �

(
 �� ���
� 
�

 ��� 
	 ��
����	
� �����
 ��� �� 5�
��

�� ����� (V, q) = (V1, q1)⊕
(V2, q2)

C(q) = C(q1) ⊗F C(q2),
C0(q) = C0(q1) ⊗F C0(q2) ⊕ C1(q1) ⊗F C1(q2).

> ���
�� v ∈ V �� �
���� ��	��	��� �! q(v) = 0 
	� �� �
���� ����	��	��� �! q(v) 
= 0�
>	 
	���
����� ���
�� v �� 
	 �	���
���� �����	
 �� C(q) 
	� �� v �� 
	���
������ 
��	
C1(q) = C0(q)v = vC0(q)�
��� ���	
�
� v2 = q(v) ��� v ∈ V ������ �	 
 �

	�
�� �
� 
�� ������


uw + wu = q(u+ w) − q(u) − q(w) = 2B(u,w)

����� B �� 
�� �����
��� ����	�
� ���� 
�����

�� 
� q�
&���	 
	 
	���
����� ���
�� v� 
	� ���
�� w �
� �� ���������� �	
� ��� �� 
��

�����	�	
�1 �	� �
�
���� 
� v 
	� �	� �����	�����
� 
� v� (� w = tv + u �� ���� 

���������
��	� 
��	

−vwv−1 = −
(
tvvv−1 + vuv−1

)
= −tv + u

�� 
�� ��P��
��	 ��
� ������
 
� 
�� �������
	� v⊥ ��
����	
� 
� v�

������� *�(� �� dim V = 2 ��� q 
�� � �����$ diag(a, b) ���
 ������� �	 �
� �����
{u, v} 	� V � �
�� C(q) 
�� �
� ����� {1, u, v, uv} ���
 ������������	� ����� u2 = a�

v2 = b� vu = −uv �	 �
� (��!	�� ������� �� � %�������	� �������. C(q) ∼=
(

a,b
F

)
�

������� *�)� �� dimV = 3 ��� q 
�� � �����$ diag(a, b, c) ���
 ������� �	 �
�
����� {u, v, w}� �
�� C0(q) 
�� ����� {1, uv, uw,−avw} ���
 ������������	� �����

(uv)2 = −ab� (uw)2 = −ac� (uw) (uv) = −(uv)(uw)� �	 C0(q) ∼=
(
−ab,−ac

F

)
� �
�

A�����������B ������� δ = uvw �� �� �
� ������ 	� C(q)� δ2 = −abc9 �	 F [δ] ∼=
F
(√

−abc
)
� C����

C(q) = C0(q) ⊕ C0(q)δ ∼=
(

−ab,−ac
F
(√

−abc
)
)
.

�� ���������� �� −abc �� � �%���� �� F � �
�� F
(√

−abc
) ∼= F × F ��� C(q) ∼=(

−ab,−ac
F

)
×
(
−ab,−ac

F

)
�

�������� *��� 0�� {v1, v2, . . . , vn} �� �� 	��
	�	��� ����� 	� (V, q) ����� � ����� 	�
V � �
��
 �� 	��
	�	��� ���
 ������� �	 q� 0�� ����
�� δ = v1 · v2 · · · · · vn�

*�- δ �	������ �� C(q) ���
 ����� ����	� �! n �� 	�� ��� δ �����	������ ���

����� ����	� �� n �� �����

*#- δ2 = (−1)
n(n−1)

2 det(q) ��
�� �� �
� ��������	
	
 	� �
� %�������� �	�� q��
*)- �� {w1, w2, . . . , wn} �� ��	�
�� 	��
	�	��� ����� �
�� w1 ·w2 · · · · ·wn ��!���

��	� δ �� � ������ ����	��



�� ����� �	
�����


(	 ��	��
� ��� 
 	�	���	���
� q 
	� V �� ���	 ����	���	� C(q) �� 
 ��	
�
� ������
F �
�����
 
	� �� 
 
�	��� ������
 �� 5�

��	��	 
�����
�D ��� 
 	�	���	���
� q 
	�
V �� ��� ����	���	� C0(q) �� 
 ��	
�
� ������ F �
�����
 
	� �� 
 
�	��� ������
 ��
5�

��	��	 
�����
��
�� ������ ���� 
���� ������ �
�
�1

• ��� 
 ��
�
� �
�
�� t� 5�
��

�� ����� q 
	� tq �
�� ���������� ���	 7��!���

�����
� *5�
��

�� ����� q 
	� tq 
�� ���
��� �
���� ������� �����-D

• �� q �� 
	 ��
����	
� �����
 ��� (V, q) = (V1, q1) ⊕ (F, x �→ −x2)� 
��	
C0(q) ∼= C(q1)D

• > �
�� �� ���
����� e, f ∈ V ���� 
�

 B(e, f) = 1
2 ����� 
�� ��
����	
�

������
�	
� 1
2 (1 ± ef) �	 C0(q) *�	 
��� �
�� Fe⊕Ff �� �
���� 
 
�����	���

������-

2�)�#� (	
	�	�	�� 	� %������ 
������������� G�
 B = F [x0, x1, . . . , xd+1] 
	� ��


� ���
� P

d+1
F =?��3B� G�
 q ∈ Bk �� 
 	�	"��� *������	���� �� ������ k-

����	���
��

����� *���� 0�� X ⊂ P
d+1
F �� � 
����������� ������ �� q ∈ Bk9 ���� X ="�	#A

�
��� A = B/(q)� �
�� Hp (X,OX(n)) = 0 �	� p 
= 0, d ���� ��	� d ≥ 1�
�/� H0 (X,OX(n)) = An

�+� Hd (X,OX(n)) = A∗k−2−d−n.
�� d = 0� �� 
��� �� �$��� ��%�����

0 → An → H0 (X,OX(n)) → A∗k−2−n → 0.

:��� A∗n = HomF (An, F ) �� 
 ��
� ��
���

"�		�� ��� ��
�
 ��5��	��

0 → B(n− k)
q·−→ B(n) → A(n) → 0

�	����� 
	 ��
�
 ��5��	�� �� ���
���

0 → OP
n
F
(n− k)

q−→ OP
n
F
(n) → OX(n) → 0.

��� G���
 ������� ������

��� ���� 
�� ��������	��	� ���������� ��5��	�� 
	�
G���
 2���

(
 ������� 
�

 OX(n) �� �����
� ��� n ≥ k − 1�

����� *���� �� X ��� d ��� �� �� 4�// ��� F �� � ����	� ������ 	� X �
��
Hp (X,F) = 0 �	� p > d�

"�		�� ����� ����
� 
	 ��
�
 ��5��	��

0 → F ′ → OX(−n)r → F → 0.

F�� p > d + 1 �� �
�� Hp = 0 
� 
 ��	�
�� �	 5�
���������	
 ���
��� �	 P
d+1
F � ��


�� ��
�
 ���������� ��5��	�� ����� 
�

 Hd+1(X,F) = 0�

����� *��'� �� F �� �������� �
�� �
� ���	����� ��� f∗f∗ (F) → F �� ���#�������

"�		�� ��� ��!���	�� ��
���	 
�� G���
 
	� G���
 2�H �� 
�

 ���� �� �
��
��!���	
 f∗� O����
������ 
�� ����� ���
�	� �
����



K������
 ��

F��� ���� �	 �� 
����� 
�

 q �� 
 	�	��	���
� 5�
��

�� ���� *���� k = 2�-
��� ���
 ��!���	�� ��
���	 
�� �
�� �� ���3��
��� ��	��� 
	� 
�� �
�� �� 5�
����

���������
�� �� 
�

 OX �� 	� ��	��� �����
�� 
�
����� OX(1) �
��� ��� �	� �
�
����������� ��	�
���
 
�� �
	�	��
� ������
��	 �� 
 �����
� ���
� 
� �	 
�� �
�� ��
���3��
��� ��	���� O����
������� �	� ������ �������� 
�

 OX ���� �� ��!���	

���� OX �	 E�
���� 2��� ��� ����	� ��!���	�� �� 
�

 
�� ��������� ������� *2�H-
���� 	�
 
����	

��

2�)�)� ���������� ������	� �	� �
� ���	����� ���	����	�� �� �	
������ ���� 
 ����
��


��	
� 
��� ����� �� 	�
 	����� 
� ����� 
�� %�
	 �������� ��
 ���� �� �������
��� �
� 
�����

��	�� G�


· · · → OX(−p)kp → · · · → OX(−1)k1 → OX
k0 → F → 0

�� 
�� �
	�	��
� ������
��	 �� 
 �����
� ���
� F �
%�	�� 
�� ��	�
�� �� ����
� ���
��	� �� ��
�
 �	 �����
� ���
���� 
���� �� 
��

�������	� �������	�� ��� kp+1 = dim Γ(X,Zp(p+1)) �	 
�� ������� *2�H- �� ������	�

�� �
	�	��
� ������
��	1

*2��<- dim Γ(X, F(p+ 1)) − k0 · dim Γ(X,OX(p+ 1)) + · · ·
+ (−1)p−1kp · dim Γ(X,OX(1)) + (−1)pkp+1 = 0.

C��
�� 
�

 
�� "	�����D ������ ΠF (t) �� 
 ���
� F �� 
�� ����
� ����� ������

ΠF(t) :=
∞∑

i=0

dim Γ(X,F(i)) · ti ∈ Z[[t]].

��� ?��	�
�I ������ ΠX(t) �� 
 �
���
� X �� 
�� ?��	�
�I ������ �� �
� �
���
��
�
���
�1

ΠX(t)
def
= ΠOX

(t).

(	 �
�
����
� �� X = ProjA ��� 
 ��
��� 
�����
 A� 
��	 ΠX(t) �� 
�� ���
� ?��	�
�I
������ �� A�

������� *�*� �� S �� �
� ��	#������ ������ S = Pn
F � �
�� dim Γ(S,OS(i)) =(

n+ i

i

)
� �	

Pn(t) := ΠS(t) =
∞∑

i=0

(
n+ i

i

)
· ti = (1 − t)−n−1.

������� *�+� 0�� ϕ �� � 
	�	����	�� �	���	���� 	� ������ k �� 
	�	����	��
�		�������� �� P

d+1
F = ProjB, B = F [x0, x1, . . . , xd+1], A = B/(ϕ), X = ProjA

� � 
����������� ϕ = 0 �� P
d+1
F �  ���� �
� �$��� ��%�����

0 → Bn
φ·−→ Bn+k → An+k → 0

������ �	� ����� n� �
� �	��	���� �%������ 
	���.

ΠX(t) = Pd+1(t) − tkPd+1(t).

�
�� ΠS(t) =
1 − tk

(1 − t)d+2
=

1 + t+ . . .+ tk−1

(1 − t)d+1
�



�� ����� �	
�����


����� *��(� '	� � ��	#������ %������ X 	� �������	� d

Qd(t) := ΠX(t) =
1 + t

(1 − t)d+1
.

&�"�"��!�" *��)� �� 0 → F ′ → F → F ′′ → 0 �� �� �$��� ��%����� 	� OX �
�	����� ��� ���
�� F ′, F ′′ ��� ������� 	� F , F ′(1) ��� �������� �
��

ΠF (t) = ΠF ′(t) + ΠF ′′(t).

"�		�� 4� G���
 2�#� ��
��� F ′, F , F ′′ 
�� �����
� �� F ′(1)� F � F ′′ 
�� �����
��
:�	�� �
�� ��
�
 ��5��	�� �� ���
���

0 → F ′(i) → F(i) → F ′′(i) → 0

�	����� 
	 ��
�
 ��5��	�� �� 
�� ��������	��	� ��
��� �� ����
� ���
��	��

��� ��������� ��
��� �� �	��	� 
 �
	�	��
� ������
��	 �� 
 �����
� ���
� F
��������� 
����� 	
���� 
�� ���	
�
� *2��<-� ������ 
�� �������	� ���	
�
��� ��� 
��

��	��

�	� ��	�
��	 GF (t) :=
∞∑

i=0

kit
i1

ΠF (t) = GF (−t) · ΠX(t) 
	� GF (t) =
ΠF (−t)
Qd(−t)

.

������� *�7� �
� "	�����D ������ 	� �
� �
��� OX(1) ��

ΠOX(1)(t) =
ΠOX

(t) − 1
t

,

�	

GOX (1)(t) =
ΠOX (1)(−t)
Qd(−t)

=
Qd(−t) − 1
−tQd(−t)

=
1−t

(1+t)d+1 − 1

−t 1−t
(1+t)d+1

=
(1 + t)d+1 − (1 − t)

t(1 − t)
.

�	� �
� �
���� ����' 
�



(1 + t)d+1 − (1 − t)
t(1 − t)

− 2d+1td+1

t (1 − t)

�� 
 ����	���
� �� ������ d− 1� �� ki = 2d+1 ��� i ≥ d�

2�)�H� �
� ���	����� ���	����	� 	� � ������� �
����

����� *��*� -����� �
�� Hq(X,F) = 0 �	� q > d ��� ��� ����	� ������� F � 0��
Zp = Zp (F) �� �� �� 4�; ��	��� �� G �� d��������� �
�� Extq (Zd−1,G) = 0 �	� ���
q > 0�

"�		�� ��� ��5��	�� 0 → Zp → f∗(Tp) ⊗OX(−p) → Zp−1 → 0 �����

· · · → Extq (f∗(Tp) ⊗OX(−p),G) → Extq (Zp,G) → Extq+1 (Zp−1,G)

→ Extq+1 (f∗(Tp) ⊗OX(−p),G) → · · · .

O�� Extq (f∗(Tp) ⊗OX(−p),G) = T ∗p ⊗Hq (X,G(p)) = 0 ��� q > 0� p+ q ≥ dD ��
��� q > 0 �� �
��

Extq (Zd−1,G) ∼= Extq+1 (Zd−2,G) ∼= · · · ∼= Extq+d (Z−1,G) = 0



K������
 ��

�"�"����/ *��+� -����� Hq(X,F) = 0 �	� q > d ��� ��� ����	� ������� F � ��
0 → F ′ → F → F ′′ → 0 �� �� �$��� ��%����� 	� ������� �
������ �
��

0 → Zd−1 (F ′) → Zd−1 (F) → Zd−1 (F ′′) → 0

�� ����� �$����

"�		�� :��� Zd−1 (F ′) �� d������
�� �� 
�� 
�������

� Ext1 �� 0�

�"�"����/ *��7� K0(X) �� �	���	�������

"�		�� G�
 K0(X,⊕) �� 
�� K������ �� ��
�
 �

����� �� ���
�� ��	���� �	 X ��
�
�	�� ����
 ��
�
 ��5��	��� ���	� 
���������� ��� 	

��
� �
� K0(X,⊕) → K0(X)
�
� 
 ����
 �	����� ����	 ��

[F ] �→
n∑

p=0

(−1)p [OX(−p) ⊗ f∗ (Tp(F))] + (−1)n+1 [Zn (F)]

��� n �
��� �	���� 
	� �����
� F � %�	�� K0(X,⊕) �� 
�����	����� �� 
�� ������
%�����
 �������� 
�� �
�� �� 
��� ��� K0(X)�

%�
	.� ��
��� �� �����
�	� K�
����� �� 5�
���� ���������
��� ���� 
��	�

��	
�� 
�� �
	�	��
� ������
��	 �� 
 (−1)������
� ���
��
(� F �� (−1)������
�� 
��	 F(−1) �� �����
�D �� �� �
�� 
	 �����������

OX ⊗Γ (X,F(−1)) � F(−1).

%�	�� Γ (X,F(−1)) �
� �	�
� ����	���	 m� 
��� �� 
	 ����������� Om
X � F(−1)�

��������� 
���� �� 
	 ��
�
 ��5��	�� �� ���
�� ��	���� 0 → G → OX(1)m → F → 0�
(� d �� 
� �	 G���
 2��2� 
��	 Zd−1 (G) ⊕ Zd−1 (F) ∼= Zd−1 (OX(1))m

� O�
� 
�


G �� �����
�� �� �
� �
	�	��
� ������
��	 �� ���	��� G�
 U = Zd−1 (OX(1)) 
	� ��

E = EndX (U) 
�
�	� �	 U ���� 
�� ����
� F�� 
	� ���
�� ��	���W � HomX(U ,W)
�� 
 ���
 E��������

����� *��8� �� W �� � ������ ������� 	� Um �	� �	�� m <∞ �
��

U ⊗E HomX(U ,W) ∼→ W .

"�		�� ���� �� ���
� ��� W = U 
	� 
�� ������
� �� ��������� ��������� �� �����

���� 
	� �	����
�� �� �����
 ����
	���

O�
� 
�

 �� W �� 
 �����
 ����
	� �� Um� 
��	 HomX(U ,W) �� 
 �	�
���
��	��

�� ���3��
��� E������� ��	�� �
 �� 
 �����
 ����
	� �� HomX(U ,Um) =
Em�

��� �!�" *�(� '	� � ��	#������ %������ X 	� �������	� d.
• �
�  ��� ������ 	� X �� U := Zd−1 (OX(1))9
• �
� �����	� T ��	� R−1(X) �	 F ��	����� �� T (F) = HomX (U ,Zd−1 (F))9
• �
� ��������� ���	����� ���	����	� 	� F ∈ R−1(X) ��

0 → U ⊗E T (F) → OX(1 − d) ⊗ Td−1 (F) → · · ·
· · · → OX ⊗T0 (F) → F → 0.

E
�� Tp �� 
	 ��
�
 ��	�
�� ���� R−1(X) 
� P(F ) 
	� T �� 
��� 
	 ��
�
 ��	�
���
�� ���
 
���	��
� ��

��� �� %�
	.� �����


��	� ��
� �����
� '�	�� �� �������


��	� 
	� �


� 
�� �����
�



�� ����� �	
�����


G�
 {v0, v1, . . . , vd+1} �� 
	 ��
����	
� �
��� �� 
�� ���
�� ��
�� V D ��
 {z0, z1, . . . , zd+1}
�� 
�� ��
� �
��� �� V ∗� K�	�
� �� C1 
�� ��� �
�
 �� 
�� 7��!��� 
�����
 C(q)�
��� ��������
� �	 Ci ���� �� 

'�	 mod 2� ?�


ϕ =
d+1∑
i=0

zi ⊗ vi, ϕ ∈ Γ(X,OX(1) ⊗ V ).

��� �������

· · · ϕ·−→ OX(−n) ⊗ Cn+d+1
ϕ·−→ OX(1 − n) ⊗ Cn+d

ϕ·−→ OX(2 − n) ⊗ Cn+d−1
ϕ·−→ · · ·

*2���-

�� ��
�
 
	� ���
��� ����
� */#6� ?������
��	 8�#�*
-0�- +�������� �
� �
�
 ��� n > d−1
���	����� ��
� 
�� n > d− 1 �
�
 �� 
�� �
	�	��
� ������
��	 �� OX(1)� ���� �� ��
��	�
�

Un := Coker
(
OX(−n− 2) ⊗ Cn+d+3

ϕ·−→ OX(−n− 1) ⊗ Cn+d+2

)

��	 U = Ud−1 */#6� 7�����
�� 8�20�-
%�	�� 
�� ������� *2���- �� � �� 
� 
���
 � ��������
� ��
� ������ 
��� �� �
��

Un+2 = Un(−2).

7�	����� 
�� ��
�
 ��5��	���

OX(−n− 2) ⊗ Cn+d+3
ϕ·−→ OX(−n− 1) ⊗ Cn+d+2 → Un → 0

��� 
�� ��	����
��� �
���� �� nD 
���
 
�� ���
 �� 
��� �� 1� F�� 
	� 
	���
�����
���
�� w ∈ V 
�� ����������� ����	 �� ����
 ���
�����

��	 �� 1 ⊗ w �
� �	
�
�����


��� ��
��
�1

OX(−n− 2) ⊗ Cn+d+4
ϕ·−−−−→ OX(−n− 1) ⊗ Cn+d+3 −−−−→ Un+1(1) −−−−→ 0

∼=
⏐⏐ ·1⊗w ∼=

⏐⏐ ·1⊗w

OX(−n− 2) ⊗ Cn+d+3
ϕ·−−−−→ OX(−n− 1) ⊗ Cn+d+2 −−−−→ Un −−−−→ 0.

���� �� �
�� �����	 
�� �������	� G���
1

����� *��9� E�� 
��

Un+1
∼= Un(−1) ��� Un

∼= U0(−n)

�	� �� ��������� ������� n�

����� �� 
	 ��
�
 ��5��	��

*2��#- 0 → U0
ϕ−→ OX ⊗C0 → U−1 → 0

����� 
�� ����������� ·(1 ⊗ w) �
� ���� 
� ����
�� OX ⊗C1 �� OX ⊗C0 ��� ���	
d� (	 �
�
����
�

*2��)- rank (U) =
1
2

dimC0 = 2d.

����� *���� EndX(Un) ∼= C0 ���� 	� Un ��	� �
� ���
��

"�		�� /#6� G���
 8�60�



K������
 ��

O�� �� �
	 �����
� 
�� K�
����� �� 
�� 5�
���� ���������
�� X � F�� n =
0, 1, . . . , d− 1 ��
 Un : P(F ) → P(X) �� Un(M) := OX(−n) ⊗M D �������� ���	�
U : P(C0(q)) → P(X) �� U(M) := U ⊗C0(q) M � ����� ��	�
��� �	���� �
��
un : Ki(F ) → Ki(X) 
	� u : Ki(C0(q)) → Ki(X)� ��������� �� ��


u = (u0, u1, . . . , ud−1, u) : Ki(F )d ⊕Ki(C0(q)) → Ki(X).


-�"��� *���� 0�� X = X(q) ⊂ P
d+1
F �� � %�������� 
����������� 	� �������	�

d ������ �� � �	��������� %�������� ����� (V, q)� �
�� �
� ��� u : Ki(F )d ⊕
Ki(C0(q)) → Ki(X) �� �� ��	�	��
����

"�		�� �� 
���
�� '	�� 
�

 Ki(Rn) ∼= Ki(Pn) ∼= Ki(P(X))� +�������� �� �
��
��
�
 ��	�
��� Tn : R−1(X) → P(F ) 
	� T : R−1(X) → P(C0(q))� 
	� �	�����
�
�� tn : Ki(X) → Ki(F )� t : Ki(X) → Ki(C0(q))D 
��������

t := (t0, t1, . . . , td−1, t)

��	�� Ki(X) 
� Ki(F )d ⊕ Ki(C0(q))� ��� 
��	�

�� �
	�	��
� ������
��	 �����

�

 ut �� 
�� ����������� Ki(Rn) ∼= Ki(Pn)� ���� ����� 
�

 u �� �	
��
O�� ���	� ��	�
��� Wn : P0(X) → P(F ) �� Wn(F) = Γ(X,F(n)) 
	� W :

P0(X) → P(C0(q)) �� W (F) = HomX(U ,F) = Γ(X,U ˇ ⊗F)� %�	��

WiUj(M) = Γ (X, (OX(−j) ⊗M) (i)) = Γ (X,OX(i− j)) ⊗M,

WU(M) = HomX

(
U ,U ⊗C0(q) M

)
= HomX (U ,U) ⊗C0(q) M = M,

Γ (X,U(n)) = 0 ��� n = 0, 1, . . . , d− 1,


�� �	����� �
� w : Ki(X) → Ki(F )d ⊕ Ki(C0(q)) �
� 
�� ������
� 
�

 wu
�� ����	 �� 
 
��
	���
� �

��� ��
� 
�� ���	
�
� �
�� �	 ��
��	
�� ���� u ��
�	3��
����

%�
	 �
�� 
��� 
	 �������
 ������
 ��� 
�� �
� �	����� �� 
	 �������	� �� 

	�	��	���
� �������
	� ���
��	 �	
� X /#6� ������� �<�B0� 
	� ��	�� �����
�� 
��
K�
����� �� 
 ����
� 
 	� 5�
����� +�������� %�
	 �����
�� 
�� K�
����� �� 

��	� ��'� ?��3R[x1, x2, . . . , xn]/ (q(x2, . . . , xn)) � /#6� ������� ���60�

6� ����	���	���

6��� �-"; �� 6 "4 � ����! ��""!- <$�,���� (	 
����� �� 5�
��

�� ����� 

�����
�� U �� 
 ��
�� V ��
� 
 5�
��

�� ���� q �� �
�� 
� �� 
	 ��	��	��� ��������
�! U ��	

�	� 
 	�	"��� ���
����� ���
��D 
 �����
�� U �� �
�� 
� �� 
 �	�����
��	��	��� �������� �! q|U = 0� ���� ��	��	
��	 �� ��	��	��	
 �� �	� �� �	
����
��
�	 ��
�����

��	 �� 5�
��

�� ������ ��	�� 	�	��	���
� ���
����� ��
�� ��	

�	� 

���������� ��
	�� &����
��� ������ 
��� 9���
����� �����
��= ��� 
 
�

��� ���
�����
��
��� ��� ����	���	 �� �
���
� 
�

��� ���
����� �����
�� �� �
���� 
 &��� ����$
�� q� �� ������ 
	 ����$ �� q� > 5�
���� q = 0 �� ����� �! 
�� �	��� �� q �� �
���
�
�������� ��� 5�
��

�� ����� �� ����	 ����	���	�
�� ��
�� 
���� 
�� �����
� �� ���
��	 2�) �	 
�� �������
 �������� �
�� �� 
 ����


5�
����1 X �� 
 ���3��
��� 5�
���� ���������
�� ���� 
 ���� F � charF 
= 2� ���	��
�� 
�� 5�
��

�� ���� �� �
���
� �	����



�� ����� �	
�����


6����� <	����	�� 7�	����� 
 ���
�� ��
�� V ��
� 
 �
��� {v0, v1, . . . , vd+1} ����

 ���� F � charF 
= 2� K�	�
� �� {z0, z1, . . . , zd+1} 
�� ��
� �
��� �� V ∗ =
HomF (V, F )� G�
 q �� 
�� 5�
��

�� ����

q =
d+1∑
i=0

(−1)iz2
i .

+�������� ��
 ei = 1
2 (v2i−v2i+1)� fi = 1

2 (v2i+v2i+1) ��� 
�� �������� �
���� �� i� ����
e0, e1, . . . , em ��
	 
 �
���
� 
�

��� ���
����� �����
�� 
	� f0, f1, . . . , fm ��
	 

�
���
� 
�

��� ���
����� �����
��� ��� �	��� �� q �� m + 1� ����� �� �
���
�
�������� �
��� ��� 5�
��

�� ����� �� ����	����	 d+ 2�

• �� d = 2m� 
��	 e0, f0, e1, f1, . . . , em, fm ���� 
 �
��� �� V ��
� 
�� ��
�
�
��� {x0, y0, x1, y1, . . . , xm, ym} 
	�

q =
m∑

i=0

xiyi.

• �� d = 2m + 1� 
��	 f0, e1, f1, . . . , em, fm, vd+1 ���� 
 �
��� �� V ��
� 
��
��
� �
��� {x0, y0, x1, y1, . . . , xm, ym, zd+1} 
	�

q =
m∑

i=0

xiyi + z2
d+1.

O�
� 
�

 v2i+1 = fi − ei� 
	� q(fi) = q(ei)� �� 
�

 �� �
��1

����� +��� �
� ��>����	� ���
 ������� �	 �
� 
��������� v ⊥
2i+1 ������
����� fi

���
 ei ��� ������
����� xi ���
 yi�

�� ��
�� �����
� 

��� �� ���
�����

��	 �	K0(X) ��� 
 d�����	���	
� ���3��
���
5�
���� X ���	�� �� 
�� �5�

��	 q = 0 �	 P

d+1
F � ����� ���

X = ProjS(V ∗)/(q) ∼= ProjF [z0, z1, . . . , zd+1]/(q).

6���#� (��!	�� �������� (	 
�� �
�� �� d = 2m+ 1 
�� ���	 �
�
 C0 = C0(q) �� 
��
7��!��� 
�����
 C(q) �� ���������� 
� 
�� �

��� 
�����
 M2m+1(F ) *
 �

	�
��
�
�
-�

C0
∼= M2m+1(F ).

(	 �
�
����
�� 
�� +���

 �5���
��	��

M �−→ HomF (FN , F ) ⊗C0 M ∈ Ob(P(F ))

W �−→ FN ⊗F W ∈ Ob(P(C0))

�� �

������� �� C0�������� 
	� F �������� �	����� ������������Kp(C0) ∼= Kp(F )
��� 
�� p�
(	 
�� �
�� �� ���	 d = 2m� 
�� 
�����
 C0 �
� 
�� ��	
�� F ⊕ F · δ� �����

δ = v0 · v1 · . . . · vd+1 
	� δ
2 = 1� ���� 1

2 (1 + δ)� 1
2 (1 − δ) 
�� ��
����	
� ��	
�
�

������
�	
� �� C0� ��

C0 =
1
2
(1 + δ)C0 ⊕

1
2
(1 − δ)C0

����� �
�� �����
 ����
	� �� ���������� 
� 
�� �

��� 
�����
 M2m(F ) *��
 
	�
�
��� �

	�
�� �
�
-�



K������
 ��

F�� ����� 
	���
����� ���
�� w ∈ V � 
�� ��P��
��	 α �→ −wαw−1 ��
� ������
 
�

�� �������
	� w⊥ �	����� 
	 
�
��������� ρw �� C0� ����� �	
����
	��� δ ��
�
�
� ������
�1

*6��- ρw(δ) = −δ.
C��
���	� ��������
� i mod 2 ��	�
�

Pi = (1 + (−1)iδ)C0 ��� ���	 d.

����� +��� '	� ��� ����	��	��� ����	� w ∈ V � ρw(Pi) = Pi+1�

�� 
�� 	�� ��
�� 
� �����
� Un
ˇ �

����� +�'� Un
ˇ ∼= Un(2n+ 1)9 �� ����������� U ˇ ∼= U(2d− 1)�

"�		�� �� �
�� �����	 
 �
��� {v0, v1, . . . , vd+1} �� V �	 6���� 
����� ��� ��
 ��
	

��
��� ������� ������
� �� �����
� vi.� ��
� ���	 	����� �� �
�
��� ����� 
 �
���
�� C0� K��	� 
 5�
��

�� ���� Q �	 C0 
� �������1 ��
 
�� ���
�	�
 ������
� ��
�����	
� �� 
�� �
��� {v0, v1, . . . , vd+1} �� ��
����	
� 
� �
�� �
��� 
	� ��


Q(vi1 · vi2 · . . . · vik
) = q(vi1 ) · q(vi2) · . . . · q(vik

).

��� ���� Q �� 	�	��	���
� 
	� ���	�� � �� ��
�
� ��
�	���	 � 
 	�	��	���
� ����
��
��� ����	�
� ���� Δ �	 OX ⊗C0� %�	�� (q(vi))2 = 1� 
 �����
 �����


��	 �����

�

 Im(OX(−1)⊗C1

ϕ−→ OX ⊗C0) = ϕ · U0
∼= U0 �� 
 
�

��� ���
����� �����
�� ��

OX ⊗C0� ���������

U0
∼= ϕ · U0 = (ϕ · U0)⊥ ∼= ((OX ⊗C0)/(ϕ · U0)) ˇ ∼= U−1

ˇ .

����
U0

ˇ ∼= U−1
∼= U0(1)


	�� �	 ��	��
��

Un
ˇ ∼= (U0(−n))ˇ ∼= U0

ˇ(n) ∼= U0(n+ 1) ∼= Un(2n+ 1).

�"�"����/ +�(� �- [U ˇ ] = [U(2d− 1)] ��� [U(d− 1)]+ [U(d− 1)]ˆ = 2d+1 ��
K0(X)9

��- rankU = 1
2 dimC0 = 2d�

(	 �
�� �� d = 2m 
�� 
�����
 EndX(U) = C0 ����
� �	
� 
�� �����
 ������
 ��
���
�����
� ���	�� �	 6���# 
����1 C0 = P0 × P1�

��� �!�" +��� �� ���� 	� ���� d.

U ′n = Un⊗C0P0, U ′′n = Un⊗C0P1,

U ′ = U⊗C0P0, U ′′ = U⊗C0P1.

O�
� 
�

 Un = U ′n⊕U ′′n 
	� U = U ′⊕U ′′� ��� ����
	�� U ′0 
	� U ′′0 ��������	�

� ���	�� �������	


��	 
	� �� ��
�� ��� ���� 
�� �

	�
�� 
�����	
 �	 ��
��"

��	�
(	 
�� �
�� �� 
	 ���	 d = 2m� 
	�
��� ������
� �� ϕ 
	� 
�� 5�
��

�� ���� Q

�	
������� �	 
�� ����� �� G���
 6�)� �
� �� ������� �� 
 �����
 �����


��	1

����� +�)� �� ���� 	� d = 2m
�- �� m �� ����� �
�� Pi = (1 ± δ)C0 ��� 	��
	�	��� �	 ���
 	�
��� 
����

����������
��- �� m �� 	��� �
�� Pi = (1 ± δ)C0 ��� �	����� ��	��	���� 
���� ���� �	 ���


	�
��9



�� ����� �	
�����


���- ϕ(1 ± δ) = (1 ∓ δ)ϕ�

�"�"����/ +�*� �� ���� 	� d = 2m�

�- U ′ˇ ∼= U ′(2d− 1) ��� U ′′ˆ ∼= U ′′(2d− 1) �	� ���� m9
��- U ′ˇ ∼= U ′′(2d− 1) ��� U ′′ˆ ∼= U ′(2d− 1) �	� 	�� m9
���- EndX(U ′) ∼= EndX(U ′′) ∼= M2m(F )9
��- �
� �$��� ��%����� �4�/+� ������ ���	 ��	 �$��� ��%������

0 → U ′0
ϕ·−→ OX ⊗P0 → U ′′0 (1) → 0,

0 → U ′′0
ϕ·−→ OX ⊗P1 → U ′0(1) → 0.

��� 
����
� ������

��	� 
�

 
	 
�
��������� �� X �	����� �� 
 ��P��
��	 ��
�
������
 
� 
 	�	��	���
� �������
	� �	
����
	��� U ′ ��
� U ′′� ���� �� �����

	
 �	

�� �������	��
> �

	�
�� �
� 
� ��
����	� �	��������
��� �����	�	
� �� 
�	����	� �� 
��

������ ���
 ������ ���� 
	 
�������

� �	���������� 
�����
�

��� �!�" +���
�� �� ���� 	� d = 2m+ 1. V = U⊗C0F

2m+1
9

��� �� ���� 	� d = 2m. V0 = U ′⊗M2m (F )F
2m

� V1 = U ′′⊗M2m (F )F
2m

�

F�� ��	��	��	�� �� ���� ��� mod 2 ��������
� �	 Vi� %�	�� Mn(F ) = (Fn)n 
�

 ���
 Mn(F )�������� �	��������
��� �����	�	
� �	����
 ������
��� �� 
�� %�
	
��	���� �� �
��1

&�"�"��!�" +�+� 
- �� ���� 	� d = 2m+ 1�

�- U ∼= V2m+1
9

��- V ˇ = V(2d− 1)9
���- EndX(V) ∼= F ��� rankV = 2m9
��- [V(d− 1)] + [V(d)] = 2m �� K0(X)�

�- �� ���� 	� d = 2m�

�- U ′ = V2m

0 ��� U ′′ = V2m

1 9
��- Vi

ˇ = Vi+m(2d− 1)9
���- EndX(Vi) ∼= F ��� rankVi = 2m−19
��- [Vi(d− 1)] + [Vi+1(d)] = 2m �� K0(X)�

(	 �
�
����
� HomX(Vi,Vi+1) = 0� +�������� �	�� 
�
�	 
 ��P��
��	 �	
���
��
	��� Vi ��
� Vi+1�

������� +��� �� d = 1 �
� �	��� X
i
↪→ P2 ����� �� x0y0 + z 2

2 = 0 �� ��	�	��
��
�	 �
� ��	#������ ���� P1.

χ : P
1 ∼−→ X,

χ(t : u) = (t2 : −u2 : uv).

�� �
�� ����

OX(−1) = i∗ (OP2(−1)) ,

��� �
� ���	����� ��������� ���	����	� 	� OX(1) ��

0 → U → O 3
X → OX(1) → 0.



K������
 ��

�� �	��	�� �
�� U 
�� ���
 2� ���

∧3
O 3

X
∼=

2∧
U ⊗OX(1),

2∧
U ∼= OX(−1).

=	��	����

V = χ∗ (OP1(−1)) =
(
χ−1

)∗
(OP1(−1)) ,

V ⊕ V = U ,

V ⊗ V =
∧2

U = OX(−1).

������� +��� �� �
� ���� d = 2� �
� %������ ������� X ↪→ P3 ����� �� x0y0 +
x1y1 = 0 
�� ��	 ��	#����	��

p0 : X −→ P
1, p0 (x0 : x1 : y0 : y1) =

{
(x0 : x1)
(−y1 : y0)

,

p1 : X −→ P
1, p1 (x0 : x1 : y0 : y1) =

{
(x0 : y1)

(−x1 : y0)

�
��
 ����� �� ��	�	��
���

ψ : X −→ P
1 × P

1.

�� �
�� ���� 	�� ��� �
��
 �
��

V0(1) = p ∗0 (OP1(−1)) , V1(1) = p ∗1 (OP1(−1))

	� ���� ������ ���

OX(−1) = V0(1) ⊗ V1(1).

G�
 H = [OX ] − [OX(−1)] �� 
�� ��
�� �� 
 �������
	� ���
��	 �	 K0(X)�

�"�"����/ +�7� �� ���� 	� d = 2m �
� �	��	���� ���������� 
	�� �� K0(X)�
�- ([V0] − [V1]) ·H = 09
��- ([V0] − [V1]) · [OX(n)] = [V0] − [V1]9
���- ([V0] − [V1])ˇ = (−1)m([V0] − [V1])�

"�		�� ?������
��	 6�6��- ��- ������

[V0(d− 1)] + [V1(d)] = [V1(d− 1)] + [V0(d)].

��	����	� �� OX(−d) �	� ��

�	�
[V0] − [V1] = ([V0] − [V1]) · [OX(−1)],

��	�� �- 
	� ��-� ���� ���- �����
� ���� 6�6� �- ��-�

&�"�"��!�" +�8� K•(X) �� � ���� K•(F )��	���� 	� ���
 2m+ 29 �	��	���
�- �� �
� ���� 	� d = 2m + 1 �
� ������� [OX ], [OX(−1)], . . . , [OX(1 − d)]�

[V ] �	�� � ����� 	� K•(X)9
��- �� �
� ���� 	� d = 2m �
� ������� [OX ], [OX(−1)], . . . , [OX(1 − d)], [V0],

[V1] �	�� � ����� 	� K•X �

"�		�� >���� ������� 2�##�



�� ����� �	
�����


(	 �
�� �� 
 (−1)������
� F 
� ��

�	 
	 ���������	 ��� [F ] ∈ K0(X) �	 
���� ��

�� �
��� ���� ?������
��	 6�; �	� 
��	�

�� 
�� �
	�	��
� ������
��	 �� F 1

0 → Zd−1 → OX(1 − d)kd−1 → · · · → OX(−1)k1 → OX
k0 → F → 0


	� ����
��� Zd−1 �� U⊗C0 HomX(U ,Zd−1) ∼= Zd−1� ���	 �	 K0(X)

[F ] =
d−1∑
i=0

(−1)iki[OX(−i)] + [U⊗C0 HomX(U ,Zd−1)].

K���	��	� �	 
�� �
��
� �� d �� �
�� ��
���

[U⊗C0 HomX(U ,Zd−1)] = a[V ]

��
[U⊗C0 HomX(U ,Zd−1)] = a[V0] + b[V1],

����� 
�� �	
����� a, b �	 
��	 ����	� �	 
�� ���������
��	 �� HomX(U ,Zd−1)
�	
� 
 �����
 ��� �� ������ ���
 C0 � �������� 7�	�������� �� ��� 
 ����	 F 
��
�5�
��
�

[F ] =
d−1∑
i=0

(−1)iki[OX(−i)] +W

������ ����� W �� ��
��� a[V ] �� a[V0] + b[V1]� 
��	 k0 �� 
�� E���� ��
�
�
����
��∑
(−1)i dim Hi(X,F) �� F � %� �� F �� �����
�� 
��	 k0 = dim Γ(X,F)� O��
�

Z0(1) = Ker
(
OX(1)k0 → F(1)

)
�� �����
�� 
	� �
��

�	� 
��� 
� �	 
�� ���������

������� �� ��	�
���
�	� 
�� �
	�	��
� ������
��	� �	� ��

�	� 
�

 ��� 
 �����
� F

�� ��	����	��

[F ] ≡
d−1∑
i=0

(−1)iki[OX(−i)] mod Im(K0(C0)
u→ K0(X))

����� �� 
	� �	�� �� 
�� �	
����� 
�� ki �

���� *2��<-� (	 �
�� �� d = 2m + 1� �	
����� 
� ������� ��
�� [F ] �� 
 �����
� ���
� F �	 
���� �� 
�� �
��� �� ?������
��	
6�;� �
 �� �	���� 
� '	�� 
�� ����	���	� �� Γ(X,F(i)) ��� i = 0, 1, 2, . . . , d − 1 
�
��
����	� 
�� ki.�� ���	 
�� �
	' �� F �� �� ���	
 
� ��
����	� 
�� ��� ���	
 a ��
[V ]� >	 
	
������ �


���	
 ���
�	� �
��� ��� 
	 
���
�
�� ���
� F ��
� 
�� E����
��
�
�
����
�� �� F(i) �	 ��
�� �� dim Γ(X,F(i))� (	 �
�� �� d = 2m� �	 ���� ��
7�����
�� 6�8 ��- 
	� ?������
��	 6�6 ��-� 
�� ��	���� V0 
	� V1 �
�� 
�� �
�� E����
��
�
�
����
��� �
	' 
	� ���	 
�� ������
 ��
����� ������ ����� ��
���
 �����
�
��	�����

��	�� �	� �
	 ������� 
 ��
�� [F ] �	 
���� �� 
�� �
��� �� ?������
��	 6�;
�	�� �� 
� 
 ���
���� �� [V0] − [V1]�

6���)� ���������� ������	� �	� � ��������� ���	����� ���	����	�� O�� �� �����
�
���� ��	��

�	� ��	�
��	� ��� �
	�	��
� ������
��	��

������� +�'� '	� � ������ �����	� H l = (1 − [OX(−1)])l 	� �	�������	� l �� X

GHl(t) = (1 + t)l.

������� +�(� &� �	��	� �
� �	����	� 	� F�/�/�  ���� X ������� �� �	������ ������
������������ Sk = ProjF [x0, . . . , xk] ����� �� �
� �	��	���� �%����	��.
�� �� ���� 	� d = 2m.

y0 = . . . = ym = xk+1 = . . . = xm = 0 �	� k < m ���

y0 = . . . = ym = 0 �	� k = m;



K������
 ��

�� �� ���� 	� d = 2m+ 1.

y0 = . . . = ym = zd = xk+1 = . . . = xm = 0 �	� k < m ���

y0 = . . . = ym = zd = 0 �	� k = m.

Sk �� ��	�	��
�� �	 Pk
F � �� ���������� ��� ���������� �
��� Lk �� �������� �
����	��

GLk
(t) =

Pk(−t)
Qd(−t)

=
(1 + t)−k−1

(1 − t) /(1 + t)d+1
=

(1 + t)d−k

1 − t
.

����� +��9�

2GLk
−GLk−1 = (1 + t)d−k.

�� ��

�	 
 ����
�
 ������
 ��� 
�� 
��	�

�� �
	�	��
� ������
��	 �� 
 ���
� F �
�� 
��	�

� GF � 	�����
�	� 
�� 
���� �� ������ ≥ d� ���	�

�	� ��	��

�	� ��	�
��	
GF �	� ��

�	� 
 ����	���
� TF � F�� l < d 
�� �
	�	��
� ������
��	 ��� H l �� �
����

��	�

��1

THl(t) = (1 + t)l
��� l < d.

��� ��5��	�� (ci) �� ��� ���	
� �� 
�� �
	�	��
� ������
��	 �� 
�� ���
� Lk �

�
����"�� �

�
�	� ���� 
�� ������ d− k �	�
���1

GLk
(t) =

(1 + t)d−k

1 − t
= (1 + t)d−k ·

∞∑
i=0

ti =
∞∑

i=0

cit
i

��

cd−k = cd−k+1 = . . . = 2d−k.

����

TLk
(t) =

(1 + t)d−k − 2d−ktd

1 − t
.

&�"�"��!�" +���� ��� �	� � �$�� k� Lk �� �
� ���������� �
��� 	� � ������ ����������
Sk 	� �������	� k �� X � �
�� �� K0(X)�
�� �� ���� 	� d = 2m+ 1

[Lk] =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + 2m−k[V ];

�� �� ���� 	� d = 2m �	� � �������� ������� a�

[Lk] =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + a[V0] + (2m−k − a)[V1];

�� 2[Lk] − [Lk−1] = Hd−k�

"�		�� %���
�
�
�	� t = −[OX(−1)] �	
� 
�� ���
	���	 ��� TLk
(t) ������� ����	��	�

�	 
�� �
��
� �� d� 
�� ���������	�

[Lk] =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + a[V ];

[Lk] =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + a[V0] + b[V1].



�� ����� �	
�����


��� ���

��� �	
����� a, b� ����

0 = rank[Lk] =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩
T Lk

(−1) + (−1)da · 2m =
= (−1)d(2ma− 2d−k−1) ��� d = 2m+ 1

T Lk
(−1) + (−1)d(a+ b) · 2m−1 =

= (−1)d(2m−1(a+ b) − 2d−k−1) ��� d = 2m.

�� ����� �- �
 �� �	���� 
� ���� 
�

 2TLk
(t)−TLk−1(t) = (1+ t)d−k� ����� �������

�����
�� ���� G���
 6��<�

6���H� �
� �	�	�	����� �������	�� O�� �� ��
�� �	� 
 �
��� �� K0(X) ����� �� ��	�
��	��	
 ��� �����


��	�� %�	�� 
�� 5�
���� X �� �����
�� K ′0(X) = K0(X) 
	� �	�
�
� 
�
	���� 
�� 
��������
� ��
�

��	

FpK ′0(X) = �������� ��	��

�� ��{
[F ] :


�� �

�' Fx = 0 ��� 
�� ��	���� ���	
�
x �� ����
���
��� �� ������	���	 < p

}
��K ′0(X) 
�K0(X)� �� '	�� 
�

 ��� 
 ����
 ���3��
��� 5�
����X 
�� 7��� ������
CHp(X) 
�� ���������� 
� 
�� ��������	��	� �
�
��� �� 
�� 
��������
� ��
�

��	1

CHp(X) ∼= FpK0(X)/Fp+1K0(X).

�� ������ 
�� 	�


��	 �� 6����� ���K����������� �����


��	 B�) ������ 7���
������ �� 
�� 5�
���� X �

&�"�"��!�" +���� '	� � ����� ��	#������ %������ X 	� �������	� d
�� �� ���� 	� d = 2m�

CHp(X) ∼= Z �	� p 
= m, 0 ≤ p ≤ 2m ��� CHm(X) ∼= Z ⊕ Z;

�� �� ���� 	� d = 2m+ 1�

CHp(X) ∼= Z �	� ��� 0 ≤ p ≤ 2m+ 1.

*$������ �������	�� ��� ����� �� �	��	��.
(��� d = 2m.
�� �	� p > m� �
� ����� 	� ��� ������ ���������� 	� �������	� d− p� �����

Sd−p : y0 = . . . = ym = xd−p+1 = . . . = xm = 09
��� �	� p < m� �
� ����� Hp 	� � ������ �����	� 	� �	�������	� p9
���� �	� p = m� CHm(X) �� ��������� �� ��	 ������� 	� ������ ������������

S′m : x0 = . . . = xm = 0 ��� S′′m : y0 = x1 = . . . = xm = 09
�
� ������� �� CHm(X) ������ ���
����� �� �� ���� ������ 	� xiG� �� �������� ��
�	�����	����� yi �� �
��� �%����	���

(��� d = 2m+ 1.
�� �	� p > m� �
� ����� 	� ��� ������ ���������� 	� �������	� d− p� ����

Sd−p : y0 = . . . = ym = zd+1 = xd−p+1 = . . . = xm = 09
��� �	� p ≤ m� � ����� Hp 	� � ������ �����	� 	� �	�������	� p�

O�
� 
�

 
�� ��P��
��	 �� G���
 6�� �	
����
	��� �	� xi ��
� yiD �� �
 �	
���
��
	��� S′m ��
� S

′′
m� +�������� 
��� ��P��
��	 �	
����
	��� [V0] ��
� [V1]�

O�� �� �
	 ���� 
	 �������
 �������
��	 �� 
�� ��	� �
���
��� �	 K0(X)� �� ��

��� ��	�
� Lp = [Lp] 
�� ��
�� �� 
�� �
���
��
� ���
� �� 
�� ��	�
� ����
���
� Sp ��
����	���	 p� +�������� �	 �
�� �� 
	 ���	 d = 2m ��	�
� �� L′m 
	� L′′m 
�� ��
��
�� 
�� �
���
��
� ���
� �� S′m 
	� S

′′
m ������
������



K������
 ��


-�"��� +��'� 0�� X �� � ����� ��	#������ %������ 	� �������	� d� �
��

�- �� �
� ���� 	� d = 2m + 1 �
� ������� 1, H, H2, . . . , Hm, Lm, . . . , L0

�	�� � ����� 	� �
� ���� -������ ��	�� K0(X)9
��- �� �
� ���� 	� d = 2m �
� ������� 1, H, H2, . . . , Hm−1, L′m, L

′′
m, Lm−1�

. . . , L0 �	�� � ����� 	� �
� ���� -������ ��	�� K0(X)9
���- �� �
� ���� 	� d = 2m �
� ������� 	� ��	�������	� m ��� �� �
	��� ��

�	��	��.

L′m =
d−1∑
i=0

(
i∑

p=0

(
m

p

))
(−1)i[OX(−i)] + [V0],

L′′m =
d−1∑
i=0

(
i∑

p=0

(
m

p

))
(−1)i[OX(−i)] + [V1]

��� �	� �������	�� k < m

Lk =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + 2m−k−1([V0] + [V1]);

��- �� d = 2m� �
�� Hm = L′m + L′′m − Lm−19
�- H · Lp = Lp−1 , H · L′m = H · L′′m = Lm−19

��- Hd−k = 2Lk − Lk−1 �	� k ≤ d− 1
2

� Hd = 2L0� H
d+1 = 09

���- Lp · Lq = Lp · L′m = Lp · L′′m = 09
����- �� d = 2m ��� m �� ����� �
�� L′m

2 = L′′m
2 = L0� L

′
m · L′′m = 0� �� d = 2m

��� m �� 	��� �
�� L′m
2 = L′′m

2 = 0� L′m · L′′m = L0 �

"�		�� ��������� Hi ����	�� 
� i�
� ����� F iK0(X) �� 
��������
� ��
�

��	� ��
���
 ����' 
�

 Hd+1 = 0� (� π : X → Pd

F �� 
 
������� ����� �
����� 
��	� 	�	�
��	���
� �������
	� ���
��	� 
��	 π∗ : K0

(
P

d
F

)
→ K0(X) �� 
 ��	� ������������


	�

π∗
(
O

P
d
F
(n)

)
= OX(n)

�� π∗ (H) = H 
	� Hd+1 = 0�
O��
� Lp ∈ F d−pK0(X)� L′m, L

′′
m ∈ FmK0(X)� �� ������ ���-� ���
�� 
�

 
��

��P��
��	 ρv1 ���� v0, v2, . . . , vd+1 
	� ρv1(v1) = −v1 *6���# 
����-� �����

��� ��P��
��	 �	����� 
	 
�
��������� �� 
�� �����
��� 
�����
 S(V ˇ)� �����
�	
����
	��� x0 ��
� y0 
	� ���� �
��� ������	

�� 
	� q� ��������� �
 �	����� 
	

�
��������� �� S(V ˇ)/(q)� X = ProjS(V ˇ)/(q)� 
 ������	�
� 
�
��������� ��
OX(n) ��� 
�� n� 
	� 
	 
�
��������� �� K0(X)� 4� G���
 6�# ��-� 
�� ��P��
��	
ρv1 �	
����
	��� 
�� Pi.�� %� 
�� �	����� 
�
��������� �� U �	
����
	��� �����

����
	�� U ′ = U ⊗C0 P0 
	� U ′′ = U ⊗C0 P1 �� U 
	� 
���� �	��������
���
�����	�	
� V0� V1 � ���������� 
�� �	����� 
�
��������� �� K0(X) ���� 
�� �
���
�����	
� [OX ], [OX(−1)], . . . , [OX(1 − d)] 
	� �	
����
	��� [V0] ��
� [V1]� ����

�
��������� ���� L0, . . . , Lm−1� ��� �������
 �������
��	 ����	 �	 ?������
��	
6��# ��- ����� 
�

 
��� 
�
��������� �	
����
	��� L′m ��
� L′′m� :�	��� �� 
��
�������
 ������
 �� ?������
��	 6��� ��-� ��� k < m� 
�� �	
���� a �	 
�� �������	�



�� ����� �	
�����


������


Lk = [Lk] =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + a[V0] + (2m−k − a)[V1]

���
 �� �5�
� 
� 2m−k−1� ���� �
�� 
�����	
 ��� k = m ������

L′m =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + a[V0] + (1 − a)[V1],

L′′m =
d−1∑
i=0

(
i∑

p=0

(
d− k

p

))
(−1)i[OX(−i)] + (1 − a)[V0] + a[V1].

F��� 
�� K����������� �����


��	� �� �	���
��	 �	m� �
 ������� 
�

 
�� ��
����

L′m modFm+1K0(X), L′′m modFm+1K0(X)

���� 
 �
��� �� CHm(X)� %�	�� �


���	
 ��- �� 
�� ������� ������ 
�� �	
����
a ���
 �� 0 �� 1 *
��� 
��� ������� ���� 
�� �����
��
� �� 
�� �
���
��
� ���
��� ��
S′m 
	� S′′m�- %


���	
� �- 
	� ��- ������ ���� ?������
��	 6��#� %


���	
� ��- �
���- 
�� �
�� 
� ��� �� �������
 �����


��	� ��
� ��	��

�	� ��	�
��	� ��� 
��	�

��
�
	�	��
� ������
��	� ��'� �	 ?������
��	 6���� �� ����� ����- 
������ ��
���
 ���� ��
��	��
��
�� 
�

 L′m �� 
�� ��
�� �� S′m 
	� L′′m �� 
�� ��
�� �� S′′m� 7�	����� 
�� ��
��
Lm �� 
�� ����
���
� Sm : y0 = . . . = ym = 0� (	 
�� �
�� �� ���	 m 
�� ��
���� L′′m

	� Lm ���	����� 
	� Sm� S

′
m �
�� 	� �����	 ���	
�� �� L

′
m ·L′′m = 0� +��������

Sm ���
� S′′m 
�
	�����
��� 

 
�� �

��	
� ���	
 S0� �� L
′′
m

2 = L0� >	
���������

L′m
2 = L0�

(	 
�� �
�� �� ��� m �� �
�� L′m = Lm� �� L
′
m

2 = L′′m
2 = 0� L′m · L′′m = L0�

�� ��

�	 ���
�����

��� ���� �	 CH•(X) �
 �� �	���� 
� 	�����
 
�� ����
	�
�� ����� ����	���	 �	 ��- 
	� ��-1

�� d = 2m� 
��	 Hm = L′m + L′′m �	 CH
m(X),

Hd−k = 2Lk ��� k ≤ d− 1
2

�	 CHd−k(X).

�������� +��� )���� �
� ������ �	 �
� �	��

CH•(X) ∼= Z[x, y]/
(
xm+1 − 2y, y2

)
�	� d = 2m+ 1,

CH•(X) ∼= Z[x, y]/
(
xm+1 − 2xy, y2

)
�	� d = 2m� m 	��,

CH•(X) ∼= Z[x, y]/
(
xm+1 − 2xy, y2 − xmy

)
�	� d = 2m� m ����.

�����3 +��� (
	� ���� 	� � %������ 	��� �� ������������� ��	��� ���� ��� �	��
����� �� /@@, ��  ���� ���� /#B0� �� � �	
	�	�	�� ���� 	� � %�������

6�#� ���:��! 89 4"� K2 "4 ���,�� ��� ������

�� +��'��3�� ������� ���� �;8��

����
�	� 
�

1

K2(F )/2K2(F ) ∼= H2(F, μ2)
����� 
�� �


�� ����� �� H2(Gal(Fs/F ), μ2) = H2

ét(SpecF, μ2)� 
	� Fs �� 
 ���
�
�
��� ������� �� F � �
� 
 ���
�
��� �� �����
� �������� ������ �� +��'��3�� 
	�
%����	� ��� �
�	 
�����	
 �� 9:�����
 ;< ��� K2=� �� ����� �
 ��� 5�
��

�� ���

�	���	�D �
 ���
�	� �
��� ��� ������ ��
�	���	� �� ������ n �������� F ��	

�	� 

�����
��� n�
� ���
 �� �	�
��



K������
 ��

(� E = F [
√
a] �� 
 5�
��

�� ��
�	���	� �� ��	�
� �� σ 
�� 	�	
����
� 
�
�����

����� �� E/F � ��� 
�
��������� σ 
�
� �	 K2(E) ��

σ{x, y} = {σx, σy}.

����� �� 
�� �
	�	��
� ������������ rE/F : K2(F ) → K2(E) �	����� �� 
��
�	����� ��
�� ��	�
�� P(SpecF ) → P(SpecE)1

rE/F {b, c} = {b, c}.

��� 
�
	���� �
� NE/F : K2(E) → K2(F ) �� �	����� �� �����
 ��
�� ��	�
��
P(SpecE) → P(SpecF )� (
 �
� �� ��������� �� σ : K2(E) → K2(E) 
� ��������

����� +��(� �
� ��������

{b, c} =
{
b+ c,−b

c

}


	��� �� K2(F ) �� b+ c 
= 0�

"�		�� ��� ���	
�
�
b

b+ c
+

c

b+ c
= 1 �������

{
b

b+ c
,

c

b+ c

}
= 0 �� *)�)-

{b, c} − {b+ c, c} − {b, b+ c} + {b+ c, b+ c} = 0 �� *)��-
{b, c} − {b+ c, c} + {b+ c, b} + {b+ c,−1} = 0 �� E������� )�� *H- 
	� *)-

{b, c} + {b+ c,−b
c
} = 0 �� *)��-�

����� +��)� '	� � %�������� �$�����	� E = F [
√
a]� �
� ���

K1(F ) ⊗K1(E) → K2(E),
{b} ⊗ {x} �→ {b, x}

�� ���#�������

"�		�� 7�	����� α = {r+ s
√
a, t+ u

√
a} ∈ K2(E)� (� s = 0 �� u = 0� 
��	 α �� 
��

�
��� �� 
��� �
�� ��� �
�
 �
�� {s
√
a, u

√
a} �� ������� �� ���	
�
� {x, x} = {−1, x}

*E������� )�� *)--� (	 
�� ���
�	�	� �
�� �� *)��-

{r + s
√
a, t+ u

√
a} = {ru+ su

√
a, t+ u

√
a} − {u, t+ u

√
a}

= {ru+ su
√
a,−st− su

√
a} − {ru+ su

√
a,−s} − {u, t+ u

√
a}

=
{
ru − st,− ru+ su

√
a

−st− su
√
a

}
+ {−s, ru+ su

√
a} − {u, t+ u

√
a}.

&�"�"��!�" +��*� '	� b ∈ F ∗� x ∈ E∗

NE/F {b, x} = (1 + σ){b, x} ��� NE/F {x, b} = (1 + σ){x, b}.

"�		�� (
 ������� ���� 
�� ���3��
��	 ������
 *?������
��	 B�#- 
�

1

NE/F {b, x} = NE/F

(
rE/F {b} · {x}

)
= {b} ·NE/F {x}

= {b} · {NE/Fx} = {b, (1 + σ)x} = (1 + σ){b, x}.



�� ����� �	
�����



-�"��� +��+ *:�����
 ;< ��� 5�
��

�� ��
�	���	�-� '	� � %�������� �$�����	�
E = F [

√
a] �
� ��%�����

K2(E)
1−σ �� K2(E)

NE/F �� K2(F )

�� �$����

(
 �� ������� 
�

 
�� ��5��	�� �� 
�� ������� �� 
 ������� ����� ��	�
���
���
����	�� �	 F � K�	�
� �� Va(F ) 
�� �������� ����� �� 
��� �������� �� �����

�

 Va(F ) �� 
����
� ��� 
�� F � �� ���
 ��	����� 
 �
�
����
� �
���

&�"�"��!�" +��7� �� �
� �	�� ��� NE/F : E∗ → F ∗ �� ���#������� �
�� Va(F ) =
0�

"�		�� > �
�

F ∗ ⊗ F ∗ → K2(E)/(1 − σ)K2(E)
b⊗ c �→ {β, c} �� NE/Fβ = b

�� ���� ���	�� �� ��
����
� :�����
 ;<� �� ���� 
�

 �
 �
�
��� 
������ K2(F )
�������	� 
�� �	����� ��� NE/F : K2(E)/(1 − σ)K2(E) → K2(F )� �
 �� �	���� 
�
���� 
�

 �
 �� 
 ������� ���� 
�



�� NE/Fβ + c = 1 
��	 {β, c} ∈ (1 − σ)K2(E).

• (� NE/Fβ = b = 1 − c �� 
 �5�
�� �	 F � b = d2� 
��	

NE/F
β

d
=
b

b
= 1,

�� �� ��
����
� :�����
 ;< 
���� ����
� 
 γ ∈ E· ���� 
�


β

b
=

γ

σγ
,


	�

{β, c} = {β, 1 − b} =
{
β

b
, 1 − b

}
��	�� {b, 1 − b} = 0�{

β

b
, 1 − b

}
=
{
γ

σγ
, 1 − b

}
= (1 − σ){γ, 1 − b} ∈ (1 − σ)K2(E).

• (� NE/Fβ = b = 1−c �� 	�
 
 �5�
�� �	 F � 
��	 ��
 L = F (
√
b)�M = E(

√
b)


	� ��
 τ �� 
�� 	�	
����
� 
�
��������� �� M/E� �� ��	�
� �� σ 
��
	�	
����
� 
�
��������� ��M/L� ����� �� �
������� ��	�� �
� ���
���
��	 
�
E �� 9
�� ���= σ� �� �
��

{β, c} = {β, 1 − b} =
{
β

b
, 1 − b

}
��	�� {b, 1 − b} = 0�{

β

b
, 1 − b

}
= 2

{
β√
b
, 1 − b

}
�� �����
�����

���
�� 
	�

2
{
β√
b
, 1 − b

}
=
{
β√
b
, 1 − b

}
+
{
− β√

b
, 1 − b

}
+ {−1, 1− b}



K������
 ��

�� �����
�����

���
� 
�
�	� %�{
− β√

b
, 1 − b

}
= τ

{
β√
b
, 1 − b

}
{
β√
b
, 1 − b

}
+
{
− β√

b
, 1 − b

}
= NM/E

{
β√
b
, 1 − b

}

�� ?������
��	 6��2� 
	� �	
���

{β, c} = {−1, 1− b} +NM/E

{
β√
b
, 1 − b

}
.

O�� NM/L
β√
b

= 1 
	� 
���� ����
� γ ∈M∗ ���� 
�



β√
b

=
γ

σγ
.

�� �
��

{−1, 1 − b} = (1 − σ){
√
a, 1 − b} ∈ (1 − σ)K2(E),


	�

NM/E

{
β√
b
, 1 − b

}
= NM/E

{
γ

σγ
, 1 − b

}
= NM/E(1 − σ) {γ, 1 − b}

= (1 − σ)NM/E {γ, 1 − b} ∈ (1 − σ)K2(E).

���� 
���� ����
� 
 ������������ K2(F ) → K2(E)/(1 − σ)K2(E) �	����� 
�
NE/F : K2(E)/(1 − σ)K2(E) → K2(F ) 
	� Va(F ) = 0�

F�� 
 ��	��
��"

��	 
� 
���
�
�� ������ ��
�	���	 �� 
 ���� F ��	

�	�	� 
�����
���

� ���
� �� �	�
�� ��� /#20�
O��
 �
�� ����� ��� 
� �	�
��� 
�� ��
�� ��NE/F : K1(E) = E∗ → F ∗ = K1(F )

	�
 
!��
�	� Va(F )� %�	��

NE/F

(
x+ y

√
a
)

= x2 − ay2,


	� ����	 b ∈ F ∗ �� 
 �
��� �� NE(X)/F (X) ����� X �� 
 ��	�� �	 P2
F ����	 �� 
��

�5�

��	 x2 − ay2 − bz2 = 0�

&�"�"��!�" +��8� �� �	� �
� ��	#������ �	��� X = ProjF [x, y, z]/(x2 − ay2 − bz2)
��� XE = X×SpecF SpecE� �
� ������� ��� H1(X,K2) → H1(XE ,K2) �� ��#�������
�
�� �
� ��� Va(F ) → Va(F (X)) �� ��#�������

"�		�� K�	�
� �� F (X) 
	� E(X) 
�� ��	�
��	 ����� �� ��	��� X 
	� XE �������

������ %�	�� XE �
� �

��	
� ���	
�� �
 �� ���������� 
� P1

E � ����� ������ ��
�
	���
�� 
�� ��5��	��

K2(E) = H0(XE ,K2) � K2(E(X)) ∂−→
∐

x∈(XE)1

K1(E(x)) � H1(XE ,K2) = K1(E).

> ����
 α + (1 − σ)K2(E) �� �	 
�� '��	�� �� Va(F ) → Va(F (X)) �! NE/Fα = 0

	� 
���� ����
� β ∈ K2(E(X)) ���� 
�

 rE(α) = (1 − σ)β� > ��

�� ��
�� �	 
��



�� ����� �	
�����


�����


��� ��
��
�1

H1(X,K2) �� ρ �� H1(XE , (K2)

∐
x∈X1

K1(F (x)) ��

∐
rx

��

κF

����

∐
x∈X 1

E

K1(E(x)) �� 1−σ ��

κE

����

∐
x∈X 1

E

K1(E(x))

K2(F (X))

∂

��

rF (X) �� K2(E(X))

∂

��

1−σ �� K2(E(X))

∂

��

N �� K2(F (X))

K2(E)
��

rE

��

1−σ
�� K2(E)

��
rE

��

NE/F

�� K2(F )

rF

��

• ∂(1 − σ)β = ∂rE(α) = 0D
• (1 − σ)∂β = ∂(1 − σ)β = 0D
• 
���� ����
� γ ∈

∐
x∈X1

K1(F (x)) ���� 
�


∐

rx(γ) = ∂βD

• ρκF (γ) = κE

(∐
rx(γ)

)
= κE (∂β) = 0D

• κF (γ) = 0D
• 
���� ����
� δ ∈ K2(F (X)) ���� 
�

 ∂δ = γD

• ∂β =
∐

rx(γ) =
∐

rx(∂δ) = ∂rX(δ)D
• ∂ (β − rX(δ)) = 0D
• 
���� ����
� ε ∈ K2(E) ���� 
�

 β − rX(δ) = rE(ε)D
• rE(α) = (1 − σ)β = (1 − σ) (β − rX(δ)) = (1 − σ) rE(ε) = rE ((1 − σ) ε)D
• α = (1 − σ) ε

����� 
�

 
�� ����
 α+(1−σ)K2(E) �� 
����
�� ���� 
�� �
� Va(F ) → Va(F (X))
�� �	3��
����

�� ���� 
�

 
�� 
�����
��	 �� �	3��
���
� H1(X,K2) � H1(XE ,K2) �� 
��
��
�
���� ���� 
� �����
� H1(X,K2)� �� 	��� �����
� ������ �
�
� �	 K�
����� ��
��	
�
� ������ 
�����
�� F���
 �� 
�� K•(X) = K•(F ) ⊕K•(C0) 
	� C0 �	 
��� �
��

�� 
 5�

��	��	 
�����

(

a,b
F

)
� ���� 
�����
 �
� �
��� 1, i, j, k ���� 
�



i2 = a, j2 = b, ij = −ji = k, k2 = −ab,

	� �� 
 �������	 
�����
 �! �
� ������� 	��� ���� x2 − ay2 − bz2 + abt2 �
� 	�
	�	
����
� "���� (x, y, z, t)� ����� �� �5���
��	
 
� 
�� ��	��
��	 
�

 
�� ���� x2 −
ay2 − bz2 �
� 	� 	�	
����
� "����� �� 
�

 
�� ��	�� X �
� 	� �

��	
� ���	
��

�����3 +��� �
�� �%��������� �� �	� �	 ������
��	������ �� �� �	 ����� �
� %��������
������� x2 − ay2 − bz2 + abt2 = 0 �� P

3
F �� ��	�	��
�� �	 X × X� �
��� �� ���	

�� ���������� ��		� �� %�������� �	�� �
�	��� ����� &��� (���������	� �
�	���
�/#H� 7�
�
�� �� 7�����
�� B�80� ��� ����� ��	����� 	� "����� �	��� �/#H� 7�
�
��
H� 7�����
�� ��B0��

>	� ���� ��
�	���	 L/F ���� 
�


(

a,b
F

)
⊗F L =

(
a,b
L

)
����
� *���� �
� "���

��������� �� �� 
 �

��� 
�����
- �� �
���� 
 ��������� ���� ��
(

a,b
F

)
� >	� �
���
�



K������
 ��

������� F (α) ��
(

a,b
F

)
� ����� α �� 
 	�	���	
�
� �����	
 �� 
�� 
�����
� �� �
�

����

�	� ����� ��� ��	�
��	 ���� F (X) �� 
��� 
 *9��	����=- ����

�	� ���� �� C0�
%�	�� ������� ���� 
 �������	 
�����
 D 
�� ��
������ �� 
� ���������� �� 
����

����	���	�

K0(D) = Z · [D].

��� �����
��� ��	�
�� P
((

a,b
F

))
→ P(F ) �� ��
�
� ��� �	����� �������������


�� 	���� NC0/F : K•(C0) → K•(F )D NC0/F (K0(C0)) �
� �	��� 4 �	 K0(F ) = Z�

	� NC0/F : K1(C0) → K1(F ) = F ∗ �� 
 ����	���
� �
� �� ������ 4�
(� L/F �� 
 ����

�	� ���� �� C0 ����� �� �	�
� ���� F � 
��	 ��	����� 
�� �������	�

�������
� ��	�
��1

P(L) �orita

�quivalence
�� P (M2(L)) P (C0⊗FL)

�orgetful

��
P (C0)

����� �� ��������� ��
�
� G�
 θL/C0 : K•(L) → K•(C0) �� 
�� �	����� ��������
������ >	�
��� �������
��	 �� ��	�
��� ��� 
���
�
�� ����

�	� ���� M 1

P (C0)
−⊗F M �� P (C0 ⊗F M) P (M2(M)) �orita

�quivalence
�� P(M)

�	����� 
�� ������������ pM/C0 : K•(C0) → K•(L)� +�������� 
���� �� 
��
�������	� �����


��� ��
��
�

K∗(L)
NL/F ��

θL/C0

��

K∗(F )

��
K∗(C0) pM/C0

�� K∗(M)

.

��� ������� �	�� Nrd : Kp(C0) → Kp(F ) �� 
�� ������������ ��� ����� 
��
��
��
��

Kp(L)
θL/C0 ��

NL/F ���
��

���
���

Kp(C0)

Nrd�����������

Kp(F )

�����
�� (
 �� '	��	 
�

 
�� ������� 	��� ����
� ��� p = 0, 1, 2� 
	� ��� �������	

�����
� C �� �5�
������� ������� Nrd : K1(C) → K1(F ) �� �	3��
���� (	 
�� �
��
�� 5�

��	��	 
�����
 C� ����� 	�	"��� �����	
 �� K1(C) = C∗/[C∗, C∗] �� �	 
��
��
�� �� θL/C : K1(L) → K1(C) ��� ���� 5�
��

�� ��
�	���	 L �� F � ���� Nrd
��� 
 5�

��	��	 
�����
 �� 
 ����	���
� �
���	� �� ������ 2�
(� L �� 
 ����

�	� ���� �� C0� 
��	 XL �
� �

��	
� ���	
�� �� �
 �� ���������� 
�


�� ���3��
��� ��	�� (
 �� �
�� 
� ����'� �	 
�� ����� �� ��	�
���� 
�

 ��� h : XL → X

h∗ =
(
rL/F 0
0 pL/C0

)
: Kp(F ) ⊕Kp(C0) → Kp(L) ⊕Kp(L).



�� ����� �	
�����


(� L/F �� �	�
�� 
��	

h∗ =
(
NL/F 0
0 θL/C0

)
: Kp(L) ⊕Kp(L) → Kp(F ) ⊕Kp(C0).

+�������� �� ix : x → X �� 
 ������ ���	
� η : SpecF (X) → X �� 
�� ��	���� ���	
�
f : X → SpecF �� 
�� �
���
��
� �
�� 
��	

ix∗ =
(
NF (x)/F

−θF (x)/C0

)
, i∗ =

(
rF (x)/F , pF (x)/C0

)
η∗ =

(
rF (X)/F , pF (X)/C0

)
, f∗ =

(
1
0

)
.

��� 4&, ����
�
� ��5��	�� ��� 
�� ��	�� X �
� 
�� �����	�� �� �
 �� 
�� ��
�

��5��	��

· · · ∂→
∐

x∈X1

Ki (F (x))
∑

x ix∗−→ Ki(F ) ⊕Ki(C0)
η∗
−→ Ki (F (X)) ∂→ · · · .

>�����	� 
�� 
�
����������

(
1 Nrd
0 1

)

� Ki(F ) ⊕Ki(C0) ��� i = 0, 1, 2� �	�


�
	������ �
 
�

· · · ∂→
∐

x∈X1

Ki (F (x))

∑⎛
⎝ 0

−θF (x)/C0

⎞
⎠

−→ Ki(F )⊕Ki(C0)
(rF (X)/F ,0)

−→ Ki (F (X)) ∂→ · · · .

(
 ������� 
�



H0(X,K′i) = ker

(
Ki (F (X)) ∂→

∐
x∈X1

Ki−1 (F (x))

)
= im(rF (X)/F , 0) = Ki(F )

H1(X,K′i) = co'��

(
Ki (F (X)) ∂→

∐
x∈X1

Ki−1 (F (x))

)
∼= Ki−1(C0).

����H1(X,K′2) = K1(C0) �� ���	
���� ��
� 
�� ��������Nrd(K1(C0)) ��K1(F ) =
F ∗ 
	� �
�� �	3��
����� �	
� H1(XE ,K′2) = K1(E) = E∗�
O�� �� '	�� 
�

 Va(F ) �	3��
� �	
� Va(F (X)) 
	� �

	�
�� 
�����	
� ����


�

 Va(F ) = 0� O
����� ��
 F0 = F � Fn+1 = �������
�� �� Fn(Xb) ��� 
�� ��	���
Xb ����	 �� x

2 − ay2 − bz2 = 0 ��� 
�� b ∈ F ∗n � ����
• F ∗n ⊂ NFn+1(

√
a)/Fn+1

(Fn+1(
√
a)∗)

• Va(Fn) ↪→ Va(Fn+1)D

	� 
�������� Va(F ) ↪→ Va(Fn+1)� O��
 ��
 F∞ =

⋃
n FnD 
�� �
� NF∞(√a)/F∞ :

F∞ (
√
a)∗ → F ∗∞ �� ���3��
��� 
	� Va(F ) ↪→ Va(F∞)� 4�
 Va(F∞) = 0 4� ?�������


��	 6��8� %� Va(F ) = 0 
	� 
�� :�����
 ;< ��� K2 ������
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